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Tracy Hatch Suite 700

Attorney 101 N. Monroe St.
Tailahassee, FL 32301
904 425-6364
FAX: 904 425-6361

October 19, 1996

Mrs. Blanca S. Bayo

Director, Division of Records and Reporting
Florida Public Service Commission

2540 Shumard Oak Blvd.

Tallahassee, FL 32399-0850

RE: Docket No. 960847-TP

Petition by AT&T Communications of the Southern States, Inc. for arbitration of
certain terms and conditions of a proposed agreement with GTE Florida Incorporated
concerning interconnection and resale under the Telecommunications Act of 1966

Dear Ms. Bayo:

At the hearing this week in the above docket, AT&T agreed to provide the
following documents to the Commissioners and parties:

1. A readable copy of the deposition of Dr. David Kaserman which was stipulated
into the record by the parties. ///&/— 7& - 1005/ 6 (Q

5 iy

: / . . .
‘ 7 /Ql ¢L£é The complete document for Exhibit No. 59, Ordering and Billing Forum Issue

y

Identification Form. This exhibit was admitted into the record pending submission of
the complete text of the document. +// &7 - 7& - re 05/ 94

/ I am enclosing an original and 15 copies of each of the above documents. A copy
s of this letter is enclosed. Please mark it to indicate that the original was filed and return
' the copy to me. Copies have been served to the parties.

Sincerely,
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CERTIFICATE OF SERVICE

DOCKET NO. 960847-TP and 960980

I HEREBY CERTIFY that a true copy of the foregoing has been

furnished by U. $. Mail or hand-delivery to the following parties

of record this Zg 'ﬂ' day of 00& , 1996:

Kimberly Caswell Donna Canzano

c/o Ken Waters Division of Legal Services
GTE Florida Incorporated Florida Public Service Comm.
Tallahassee, FL 32301-7704 2540 Shumard Oak Boulevard

Tallahassee, FL 32399

Richard D. Melson, Esqg. Martha P. McMillin, Esqg.
Hopping Green Sams & Smith MCI Telecommunications
123 8. Calhoun Street 780 Johnson Ferry Road
Tallahassee, FL 32301 Suite 700

Atlanta, GA 30342

Mark A. Logan, E=sd.

Brian D. Ballard, Esqg.
Bryant, Miller, & Olive, P.A.
201 S. Monroe Street

Tallahassee, FL 32301
<
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ARBITRATION BETWEEN
AT&Tand GTE
BEFORE THE PUBLIC UTILITY COMMISSION

IN RE: PETITION BY AT&T : DOCKET NO. 960847.-TP -
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APPEARANCES:
For the Petitioner:
TRACY HATCH, ESQ. (v1a telephone}
AT&T Communications of the Southern
States, Inc.
10t N. Monroe Street, Suite 700

h COMMUNICATIONS OF THE : ™ Tallahassee, Florida 32301
9y SOUTHERN STATES, INC. FOR : & For the Respondent:
» ARBITRATION OF CERTAIN : ® PAUL E. MIRENGOFF, ESQ.

(1) TERMS AND CONDITIONS OF A : 0o Hunton & Williams

un PROPOSED AGREEMENT WITH GTE: 0y 1900 K Street, N.W.

12y FLORIDA INCORPORATED : (122 Washington, D.C. 20006-1109

(1) CONCERNINGINTERCONNECTION ; aym (202)955-1587

{144 AND RESALE UNDER THE : it¢y ALSOPRESENT:

(159 TELECOMMUNICATIONS ACT : t15y BETH CULPEPPER (via telephone)

(& OF 1996. : 116) Commission Saff

un (2540 Shoemard Oak Blvd.

{1 s Tallahassce, Florida 32399

an Deposition of DAVID L. KASERMAN (9 WITNESS ADDRESS:

201 (Taken by Respondent) 0y Lowder Business Building

1) Auburn, Alabama an 415 W. Magnolia, Room 214

22y October 4, 1996 220 Auburn University

(r3)] a3 Auburn, Alabama

(24} Reported by: Paige Paugh, Cenrtified Professional 24 (334)844-4000 Ext. 2905

25) Reporter and Notary Public 2%

Page 2 Page 4

(\ X (1) Deposition of DAVID L. KASERMAN naken
< INRE: PETITION BY MCI : DOCKET NOQ. 960980-TP (2) by the Respondent at The Auburn University Hotel
3 TELECOMMUNICATIONS : 0 and Conference Center, College Street, Ayburu,
4y CORPORATION AND MCIMETRO : #4) Alabamna on the 4th day of October, 1996, at 1:45
(5} ACCESS TRANSMISSION : (5) p.m. before Paige Paugh.

& SERVICES, INC.FOR: ®

(0 ARBITRATION OF CERTAIN : m CONTENTS
) TERMS AND CONDITIONSOF A ; # The Witness; DAVID L. KASERMAN Examination
1 PROPOSED AGREEMENT WITH : ® By Mr. Mirengoff §

1) GTE FLORIDA INCORPORATED : 10

{11y CONCERNING INTERCONNECTION : an

12y AND RESALE UNDER THE: (12) INDEX OF EXHIBITS

13 TELECOMMUNICATIONS ACT : (13 For the Respondent Page

ey OF 1996 : a4 130
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PROCEEDINGS
Whereupon. DAVID L. KASERMAN, having been duly
Sworn, was examined and testified as follows:
EXAMINATION BY COUNSEL FOR RESPONDENT
BY MR. MIRENGOFF:
Q. This is the deposition of Professor

)]
(4]
3
(0
5
6

Page ?
basic improvement in the performance.
Q. What is the standard that compention
1s being judged against?
A.In general itis the standard of
effectve compention in policy matters. You
can’treally judge real markets against ihe

10 David Kaserman in the arbitration proceeding of 17 theorencal standard of perfect competition.
T} AT&Tllnd GTE before the Florida Public Ulitity 4 Q. What is the standard — how do we know
9 Commission. Good afternoon, Professor Kaserman, 91 when there is effective competition and when
11 A. Good afiernoon. (0 there isn't?
¢ Q. Have you had a deposition aken before? 11y A. Todetermine whether or not there is
un A, Yes. oy effective competition in a market. one needs to
1 Q. So you are familiar with the (% examine the underlying market structure factors
(14} procedure? (14 that go into a determination of the intensity of
15 A. Yes. (13) competition.
(& Q. Lam justgoing (o ask you a series of (& Q. Ifefficient entry is occutring and
(17 questions about your economic opinions in this (17 inefficient entry is not occutring, is that
{8 matier, and if anything needs clarification, just (i effective competition?
(t9) let me know and I wiil be happy to try and (19 A. No.
@01 clarify the question. If you need a break at any o Q. What would have to happenin order to
an time, let me know and we will do that, 1) move to effective competition?
an A. Thank you. 1 A. For effective competition to be present
% Q. Professor Kaserman, would you agree 23 ina market, you have to have a sufficient amount
(24) that the policy thrust of the Telecommunications 2¢) of entry occur so that the firms in that market
@25 Actof 1996 is o promote efficient competition 2%) =~ the firms in that market's pricing decisions
Page 6 Page 8
(1 inall telecommunications markets? {1) are adequately constrained by marke: forces, or
@ A. Yes. @ you have to have - in the absence of that amount
01 Q. Is it fair to say that efficient ) of entry, you have 1o have entry barriers that
4 competition exists when efficient entry occurs ) are sufficiendy low that potential compedtion
) and inefficient entry does not? $) canproduce the same result; that is, constrain
® A.No, @& the incumbent fiem’s pricing discretion.
(n Q. What is your definition of efficient ™ Q. If inefficient entry is occurring, is
& competition? (® that effective competition?
(9t A, Idon’tbelieve [ am familiar with the ® A. The answer is more or less the same,
(10} term efficient competition. Iam familiar with (10} [tis not that some cotry creates competition.
(it} the term effective competition, Now, you can () Ieis whether or not there is enough entry to
(12) have efficient or inefficient entry by firms that (12} create competition and/or whether the barriers to
(i3 are efficient or inefficient. And that may or (13) entry in that market are sufficiently low.
(14 may not lead to effective competition. (16 In regard 0 inefficient entry, ithas
{5y Q. Whatis your definition of effective (15 been well known for a long time that even
(16} competition? (16} inefficient entry can intensify competition ina
(1M A. The definition of effective competition (7 market subject to significant monopoly power. In
(s [think chat is generally accepted in the (a# other words, consumer or social welfare can
am economics literature would be syponymous with the (% improve even with inefficient entry in the
20} definition of an older term called workable 20 presence of monopoly.
21) competition. Itiss licrle bitof s sep back an Q. Was it your understanding that one of
122} from the notion of perfect competition. And the 22) the goals of the Telecommunications Act of 1996
23y idea is that there is 3 sufficient imensity of (23 is to encourage inefficient competition?
(24} competition such that public policy intervention 29y A. Well, again, you have gone back toa
2% in the market basically wouldn't lead to any Qs term -

Page 5 10 Page 8
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Page 9
Q. lamsorry. [nefficienteniry. Letme
rephrase the question. Thanks for clarifying
that.
Do you think that it is one of the
goals of the Telecommunications Act of 1996 1o
encourage inefficient entry?
A. No. Idon'tshink it is necessarily
the goai to prohibit inefficient entry.
Q. So you think -
A. Butlcertainly don't think itis a
goal 1o encourage inefficient entry.
Q. Is it your testimony thai the
Telecommunications Act of 1996 is neutral as to
whether there should be inefficient entry?
A. No. [think that if the provisions of
the act are implemented in accordance with the
law, which [ believe by the way is basicaily what
the FCC order does with some exceptions, that the
entry that is encouraged will be efficient entry.
Q. You think that is one of the goals, a
desirable outcome under the Telecommuynications
Actof 1996, correct?
A. Yes.
Q. Does efficient entry in the context of
the local exchange telephone market mean entry by

XMAXih

Page 11

th 1sn’t sound economics?

() A. We probably did.

3 Q. Youdon't - you are not changing that

4 view now?

5) A.No. sir.

) Q. You have concluded. haven't you, that

™ prices for interconnection and wnbundled neswork

& elements must be subsidy free?

9 A. Yes. Should be subsidy free.
10y Q. And doesn't subsidization occur when
{11} services of elements are pticed below the
12 economic costs of providing those products?
3 A. You will have 1o tell me what you mean
(14) by economic costs for me to answer that.
(15} Q. What is your understanding of economic
{16) costs?
un A, Letme just say [ think it is being
(U used in several different - with several .
(9 different definitions. The FCC order defines
(20) economic costs to be what they refer to as
@1 TELRIC, L-R-I-C, plus an appropriate allocation
an of forward looking common costs. 1 think inte
(23 general economic literaure, however, the term
{24) economic costs is just used to distinguish what
(23) economists mean what they talk about costs from
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Page 10
firms that holding quality constant are abie to
perform at costs that are equal (¢ or less than
the [LEC's costs?
A_ Yes. Thatcould be a definition of
efficient entry.
Q. Would inefficient entry be entry by
firms that are not able to perform at costs that
are equai to or less than the ILEC"s costs?
A. Yes.
Q. You are not advocating that the Florida
Commission should adopt the pricing rule that
encourages inefficient entry inte the local
exchange market, are you?
A. No.
Q. Isa'tit irue that the purposes of the
Telecommunications Actof 1996 are not served by
subsidizing entry into the locai exchange market?
A. That's correct.
Q. And subsidizing entry into the local
exchange market isn't sound economics either, is
?
A I think it probably would not be.
Q. Didn't you state in a report authored
by you and several of your colleagues that
subsidizing entry into the local exchange market

Page 12

(' what accounuants mean when they talk about

@) costs.

) Q. So you think the FCC order departed

) from the normal economic definition of economic
(%) costs as that term is ysed by economists?

& A.ltusesitinadifferent way thanlam

(0 used to it being used. Butthey do clarify the

@& definition in the order.

& Q. lam sorry? They clarify the
(1o definition?
aiy A. They clarify what their definition is
(12} of economic costs in the order to be what [ toid
(13} you a minute ago.
(14 Q. Which is different from how you asan
(15) economist would use the term?

e A. Yes.

(n Q. Focusing now on the economic definition
(18 that you as an economist would use, docs the
(1% concept of economic costs include the value of
(20 all inputs required for production includiag the
@y implicit value of the inputs owned by the

27 preducer?

2% A. Again, we are runaing into some

@4 definition problems. Whatdo you mean exactly by
@5 implicis value?




warlag L. Kaserman

+ Page 1}
Q@ Well, haven't you writien a book that
‘21 defines those various terms?
' A. Lhave written several books. [am not
i sure if we define that term in that book or not.
159 Q. That is certainly a fair response. You
t8) were the author along with Professor Mayo of a
1 book called Government and Business: is that
h correci?
" A Yes.
6y Q. When was that book published?
iy A, 1995,
a2t Q. Rather than ask you unfairly to
(131 speculate about precise language in the book, |
w4y will just ask you to turn to page thiny-two, |
13) believe you will sec in the second full paragraph
(16 adiscussion of the economic concept of costs
(in including a discussion of impticit costs.
in A. Yes. This gets ac chat distinction |
0% was talking about cardier, the distinction
201 between economic costs and accounting costs.
an Q. Right.
a2 A. And the fundamental distinction is how
@) and whether indeed what are called implicit costs
(24) are accounted for.
25) Q. And in the standard economic definition

-

October 4, |99¢
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11 asdefined by the FCC™
h A. No. notnecessanly.
0 Q. Can you explain that answer, please?
4 A. Yes. The standard for subsidization 1
t5) one that was to my knowledge originally described
t6 ina paper in the American Economic Review by
n Gerald Faulhaber. And fundamentally an
@ individual service or output in a multi-product
@ firm is receiving a subsidy if the service is
1o priced below its total service long run
an incremental costs oc in the FCC's redefinition or
(12 re-labeling, if you will, of that term, the
3 T-E-L-R-I-C of that service. Ifitis priced
04 below that, it is receiving a subsidy.
(15 Q. Where does that - where in the
(16 economic literature is the concept of
{Im subsidization linked specificaily to TSLRIC or
o TELRIC?
(9 A. Geraid Faulhaber's paper in the
(200 American Economic Review. [can getyou the
@1 citation if you want me to look it up in the book
@ you were just flipping through. I'm sure it's
2% cited in there,
24) Q. If we have the name, | guess we will be
25) able to find ir.

~3

Page 14

(1 of economic costs, implicit costs are included,

(2} correct?

O A. Yes. Where the implicitcosts are

4} defined to be the opportunity costs of the

(%) resources owned by the firm.

@ Q. Right. So opportunity costs, then, are

(0 included in the standard economic profession

) definition of economic costs, correce?

m A. In the definition of the economic cost
(t0) to the firm. Now, we also have to makea
aty distinction between private and social costs.
12y Q. Let's talk about the cost of the firm.
(13 A. Youare talking about the private cost,

ti¢y then?

us Q. Right. The private economic costs

& include opportunity costs, correct, in the
un standard economic definition?

n A. Yes.

a® Q. Thank you. With the standard economic

20y definition in mind, then, does subsidization

21y occur when services or elements are priced below
@) the economic costs of producing these produces?
an A. No.

a# Q. Does subsidization ocour when services

1% or elements ace priced below the economic costs

-

-

Page 16

(1) A, Sure.

@ Q. Haven’t you stated in yout testimony 1o

(3) the commission that subsidization occurs when
%) services or elements are priced below the

(%) relevant economic costs?

® A.[Ivery well may have said chat. And

(0 the relevant costs for subsidization is TELRIC or
) TSLRIC.

Q. Did you say that in your testimony?
am A_ldon'tknow. Idoa'tcecallif [ said
(11 that precisely or not, but that was the poiot of
{12) punting the adjective relevant there.
13 Q. Do you agree with the statement in the

4 FCC’s first report and order, and I am quoting
(15) now from the order at paragraph eleven, quote,
(16 the incumbent LECs have economies of density,
an connectivity and scale?

n A. Do Iagree thatthey have some

(1% economies of scale?

en Q. Yer.

1 A. Yes. Tamsure there are some

2 economies, yes. How widely they extend is an
(23 empirical question.

@4 Q. Do you agree with the statement in the

@ FCC's first ceport and order, and [ will quote

Page 13 to Page 16
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) here from paragraph six seventy-nine. thatasa
2 resuft of the availabitity to competitors of the
3 incumbent LEC s unbundled elements at their
44 economic cost, consumers will be able 1o reap the
i5) benefits of the incumbent LECs economies of scale
6) and scope?
™ A. Do lagree with hat?
8 Q. Yes.
@ A. Yes.
a0y Q. And hasn'tthe FCC stated that one of
(11) its goals is 10 enable entrants to share the
a2y ILEC's economies of scale?
0N A. Yes.
(14 Q. So partof what the FCC envisions the
(5) entrants obtaining from the ILECs is the benefit
«16) of the ILEC s economies of scale, correct?
un A. Yes. Again, whatever those economies
(e are.
119 Q. And if the entrants obtain the benefits
(201 of the economies of scale without paying for
21} them, doesn’t that amount to a sybsidy?
22y A.ldon’tknow of anyone that has
(23) proposed they obtained them without paying for
(24) them.
25y Q. lunderstand that, Butif that did

CMANS)

. Page 19
th pricesthen are based on those costs. So
(2} can’t ~ the question 1$ sort of nonsensical in
(1 the sense that nobody buys economies of scale.
) You buy unbundled elements, and economues of
%) scale then determine the costs of providing those
6y unbundled elements.
(m Q. Didn’tyou just testify previously that
(0 one of the FCC's goals is that the new entrants
% wilt obtain the economies of scale?
(0 A. They obuain the benefits of whatever
(1) economies of scale may be there, and the way they
(i) obtain thosc benefits is by efficient cost-based
(13 pricing which the FCC has advocated.
(14 Q. Isn’t it true cthat firms possessing
(15} economies of scale and scope have common costs?
(16 A. Ingeneral, the existence of - it is
U7 sortof the other way around. Itis sort of the
(13) existence of common costs is genenally perceived
{19 to be the source of economies of particularly of
(0} scope. :
an Q. And if there are significant economies
@y of scale and/or scope, isn’t that 2 sign that
(23) common costs are probably significant as well?
(24 THE WITNESS: Can you read that back?
25y (Requested portion of record read.)

- - 22

-
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() occeur, if they obtain the benefits of scale
) without paying for them, that would amountto a
1 subsidy, woulda'tit?
@ A.I[f we were to price unbundied ¢lements
) below TELRIC, that would constitute a subsidy.
6 Q. That wasn’t - can you answer the
(7y precise question?
® A. Letme haveitaguin.
% Q. If the entrants obtain the benefits of
(10) economies of scale without paying for them,
(11} doesn’t that amount to a subsidy?
(N A. Sure. The phrase, without paying for
(13 them, suggests to me that they are not paying
(19} anything for them, they are paying zero for
(s them. Some you are providing them unbundled
(16} elements at a price of zero which is below TELRIC
an and therefore it’s a subsidy.
an Q. Evea if they pay something, but if what
(i they pay does not include payment for the
20y economies of scale that they are getting, that
@ would be a subsidy, too, wouldn't it?
@) A.lhave ncverseen anybody sets price
23 foran economy of scale. Economy of scale
(4 determines the firm’s cost and the structure of .
(25) those costs as they change their output. And the

-

Page 20
tn A, Well, I guess it depends on what you
2) mean by significant. [assume you are referring
3y to some sort of a magnitede. You ¢aa have common
) costs thatare low but significant in the sense
5) that they are there. They are present. We know
(&) they are there. And that may lead to some
(M economies of scope that may or may notbe
» significant.
® Q. Is there a correlation between the
(1) magnitude of the common costs and the magninude
un of the economies of scale and scape?
12y A.]would think in general there would be
(13 a positive correlation between the size of the
(1) common costs and the magnimude of the economies
a5 of scope, keeping in mind that these things don't
& extend foreverlike economies of scale. They can
(1" exist over one range of output and then dissppear
(18 as you move into a higher range of outputora
(19 lower range - well, 1 would say a higher range
0 of output.
@1 Q. I guess[didn't quite understand your
(z) testimony from a moment ago. And [am going to
23 try and restate it. Please correct me if [don't
(4 getitright. You said that common costs could
(25) be significant but low?

-
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A Yes.
Q. Could you explain how thar would
happen?

A Itis simply - significant is a fot of

L R T]

Page 23
A Lthink tharis one of the things that
11} TEINAINS [0 be seen.
) Q. Let'sassume that GTE s competitors
1) such as AT&T ace not required by regulation o

51 himesusedina sun’s_tica_l sense. And you can 15) provide service 1o a set of customers a1 prices
& have 1 .'?t:us_ucally sngn_lﬁcant let’s say %) below marginal cost and let's also assume that
0 coefficientina regression model, but it may be i GTE continues to be required by regutation to do
B avery. B small coefficient. In other words, i thal, to provide services (o a set of customers
% it has a significant effect, but the magninude of @ atprices below marginal cost. Under those
aar thateffect may not be very large. (10} assumptions, wouldn'tthatbea
) Q. Lerme clacify. Iwasn't alking about ty regulatory-indyced disadvantage 1o GTE?
(t2) significantin some statistically ~ { just meant tth A. Let me give you two responses. First,
(13 by significant, [ just meant pretty large. (131 whether GTE currently provides any servicesata
iay A. Thatis adifferent concept. (16 price below its marginal costis an empirical
15} Q. When you were answering my questions {153 question and there are diametrically opposing
tt%) about significance, were you answering them (18) opinions on that question in the literarere and
(7 significance &3 a conceptof being bigger rather (17 in the regulatory realm as well.
tta) than smaller? (18 Q. So you are not sure that my assumption
(t9) A, No. ['wasanswering them with regard (19 is correct?
(200 fo we know they are there and they are present. 20y A, I am not sure your assumption is
21y We are confident that there are some common costs Q1) correct,
() and the question is how large are they. And what @ Q. Assuming that it is.
2% is the magnitude of the economies of scope they % A. Let’sassume itis. Then the question
2«1 might generatt and over what range of outputdo 24 is if a firm is for whatevet reaton pricing some
(25) those economies extend. 25 of its services below marginal cost, is thata
Page 22 Page 24
¢ Q. Since you may not have understood what (1) competitive disadvantage? Well, itdepends. If
0 I meantby significant when [ was asking the {0 they are reimbursed for that, no. Infact, itis
(3 questions the first rime around, let me backtrack 3 acompetitive advantage. Itis called predatory
) and see if the answers change. ) pricing. It keeps other firms from entering that
t5) U economies of scope and scale are %) segment of the markez. .
® significant in the sense of bigger racher than ® Q. Inmy hypothetical they are required to
m smallec, aren’t the common costs likely also w0 0 do so after the entrance occurs; that s, after
) be significant in the sense of bigger rather than # AT&T gets into the market. Would thatbea
9 smaller as well? t reguiatory-induced disadvantage for AT&T -1
(1o A, Yes. (13 mean for GTE?
o Q. You have stated in your testimony to un A.[believe you were right the first
i1 the Florida Commission that GTE hasa (12) time. Itis a regylatory disadvantage for AT&T.
ay regulatory-induced advantage not shared by its (13 We can put the adjective in front of it and call
(14 potential competition. Wasn't that your {14} it regulatory predasory pricing. Prices below
{58y testimony? (t$) marginal costare generally considered to be
(6 A. Yes. {16 predatory in nature. They prevent AT&T from
i1 Q. Doesn't GTE face certin (N capuring those customers or any other
n regulatory-induced disadvantages chat are not (18 competitor.
% faced by the competition? (19 Q. Let's hypothesize a situation in which
un A. Yoiy would have to describe them to me. an GTE is required by regulation to provide services
au Iamnotsure, [am pot ruling thatout. | @1 below costto a cermin set of customers and in
0 don’tknow what they are. (12 the reguistory scheme makes up for that practice
2% Q. Will GTE's competitors be required by an of below price costing by maintaining - by
24) regulation to provide service to a set of 24) having high marging wich another set of
1% customers at prices below marginal cose? 15 customers. Let’s assume that when competition

Page 21 to Page 24
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occurs AT&T does not bother with the customers
that GTE is providing service to below cost
because. as you have said, there is no incentive
for them to do so, and focuses instead on the
customers that GTE is providing secvice 1o ata

fn
t2
13
(4
3

Page 27
ought to be able 10 lower their price. So we
have added another assumptions. [ guess is what
Um saying. to your hypothetical and thai is GTE
is nol allowed 1o fower its price in the
subsidizing segment and there is nothing being

& high margin. Let's assume further that GTE is 6) done to correct the below cost price in the
(0 still required by its regulators in that (0 subsidized segment, then, yes, GTE isata
(8) environment to provide services (o the one setof {0 competitive disadvanuage.
@ customers at below its cost. Inthat comext ® Q. And you oppose in your supplemental or
iy would you agree with me that AT&T has a (10 rebuttal testimony, don’t you oppose a
on regulatory-induced advantage and that GTE hasa (1} re-batancing of the rates in the first instance
(t1y regulatory-induced disadvantage as a result of (12) prior 1o the entry of AT& T and other potential
(13 thatouicome? a3 LECs?
{14} A. Letme think about that just one (19) A_1do not oppose & true ré-balancing of
(15) minute. What you have described is a situation (1%) rates for GTE or any other tncumbent firm to
(i6) of internal cross-subsidization within the price (16) bring them into line with the costs of providing
(in structure of the incumbent firm, GTE in this (tn the services.
(13) case. [nthe presence of such & pricing us Q. When should that occur?
1% structure, all firms that enter the market that 19 A. What [ opposed in my reburtal is making
(20) are not similarly constrained or taxed have an 20y that a prerequisite to competitive entry.
@n artificially high incentive to enter the segment 21) Q. But you do agree under ceraain
(22) thatis generating the subsidy. 22) assumptions at least that until the re-balancing
2% Q. Right. 23) occurs GTE does face a competitive disadvantage,
(24) A. That does not necessarily redound to (24} correct?
25) the benefitof AT&T because we have to remember 25) A. Under a number of assumptions I think
Page 26 Page 28
(5} AT&T is not the only firm entering these markets, (1) that we have already been chrough, I would agree
@ Q. Right. It would redound to the benefit () with that.
3) of all the entrants and to the detriment of GTE, ) Q. Will GTE’s competitors, as faras you
4y the incumbent, correct? {4} know, be required by regulation to perform the
5) A. No. | think to the extent competition 5} function of provider of last resort?
& develops in this subsidizing segment of the 6} A. Whatdo you mean by perform the
(M market, it will redound to the beaefit of the (M function of competitor - of provider of last
(9 customers who were previously being taxed by the & resort?
 cross-subsidization mechanism. 9 Q. Thatthey will be obligated to provide
(10) Q. But my question was — {10) service to everyone.
(1) A. As the prices they pay will be pushed (1) A. There agiin, I ceraainly hope they
(t2) toward the true economic cost of providing (1) won'tbe. [think that would be a barrier to
(43 service to them. (13} entry into this market.
(14 Q. But my question was, woulda't it result (t¢ Q. You have no reason to believe that they
(15 inadisadvanuage to GTE? (% will be, do you?
16 A. If regulators insist on attempting to 9 A.No.
(7 sustain any kind of ¢ross-subsidization policy in (17 Q. Let's assume that they are not.
(1 the presence of entry, [ will agree with you that (n Let’s also assume that GTE is required by
(% that will harm GTE's ability to compete. [will (® regulation to continue to perform that function
(20) agree with you on that, If they cannot lower 207 as providerof lastresort. Wouldn'tthatbe a
@21 their price - this is all given alf your ab regulatory-induced disadvantage to GTE?
2 assumptions, right, that there is a true 22y A. This is not, Idon’t think, an
@y cross-subsidization occurring and GTE is aot @3 independent, if you will, regulatory
4 allowed to lowet its price, which [ understand a4 disadvantage. Thisis simply a restatementunder
(2% they are ynder price cap regulations, so they 2% analias, if you will, of the one we just alked
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about. a grass-subsidization. The only reason
GTE might be the |ast resorn would be if they
were pricing below cost and therefore entrants
did net want 1o serve those customers,
Q. You don'tdisagree with my statement.
You justcthink it restates the last proposition?
A. That'scorrect. And therefore subject
to all the assumptions and cavears that we went

oy
(k]
(&)
14
[+
«9
17
i

Page 3!
something here that may need clarification. We
have been throwing arcund at least three
different terms here with regard to costs and
pricing efficiency. We have taiked about
marginal costs, we have talked about incremental
costs and we have talked about total service long
run incremental costs and what [ consides to be
its synonym, total clement long ren incremental

{91 through with regard to that. % costs. And for purposes of this testimony, [ am
110y Q. You state in your Florida testimony, (10 considering those terms to be close enough that
11ty and I will show it to you if you don't remember t1) wecanuse them intcrchangeably.

(2 it. Butiamgoing to represent to you that you 12 Q. We are going to get to whether that is
1% state on page rwelve of your Florida testimany (1)) avalid assumption or not. But in answering
(14 that the fundamental characteristic of efficient (1i6) these questions, | would like you to answer them
us) prices is that they reflect the marginal or us forthe ierms that [ am using, marginal and
(14} incremental costs imposed on the providerto 116) incremental costs, and not make any assumption as
(th supply the good or service in question. [s that un to whedhet some other conceptlike TSLRICor | ..
4y your testimony? «# TELRIC are close fo that. Is it fair to ask you
1 A. Yes. 0% todo thai?
(200 Q. Would you like me to have a copy of 20y A. Yes. Forthe record, [ am stating that
au your testimony in front of you for 3 reference? (21) in my opinion in this industry at this time |
22) You won't have to take my word for it each time. Q2 think that TELRIC is going 10 be ciose to long
an A. That will be fine. (23 runincremental cost,
24 MR. MIRENGOFF: Why don't we make that @+ Q. tunderstand that is your position and
25) Exhibit Number 1, please. a5y we will explore that a lirtle bit. Inanswering
Page 30 Page 32

(1 (Kaserman Exhibit No. | was marked for 1y these questions, just answer them, if you would,

2) identification.) (2} asfo marginal and increment! without taking any

i MR. MIRENGOFF: Exhibit Number | is {3 position on - unless it is required to by the

) Professor Kaserman's initial the before the (4} question.

%) Florida Commission. Itiscalied Direct n A.Okay.

® Testimony of David L. Kaserman on Behalf of AT&T ) Q. Thank you. You are familiar with the

t» Communications of the Southern States, Inc, And (n incremental cost test, are you not?

#® lamalso going ro supply as Exhibit Number 2 his W A Yes. :

™ rebuntal testimony. @ Q. Isn’tthe incremental cost testa
(o (Kaserman Exhibit No. 2 was marked for (10 method of testing for the presence of
1y identification.) (11} cross-subsidization?
tiy Q. S0 you agree with your testimony on 2 A. Itis s method along with the TSLRIC
3 page twelve that the fundamental characteristic 13 method.

(4 of efficient prices is that they reflect the a# Q. Isiradifferent method?

15y marginal or incremental costs imposed on the (1% A. There are some subtle difference, yes.

16 providerto supply the good or service in a6 Q. In your iextbook, though, you describe

it question? a7 the incremencal cost test as & method of testing
tn A Yes. asy for the presence of cross-subsidization,

tim Q. Do you agree, then, that pricing below a® correct?

o marginal of incremensal cost does not result in 0 A, Thatis correct. And TSLRIC isan

an efficien prices? 1) incrementat cose.

nh A. Yes. @ Q. Butyourextbook doesn't talk about an

% Q. And therefore such pricing is not n aliernative st for cross-subsidization, does
24 economically efficient, correct? 2¢) it? It just ralks about the internal cost test

23} A. Thatiscorrect. Now, let me clarify %) as the method of testing for cross-subsidization;

Page 29 10 Page 32
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am {correct?
A. You mean incremental cost test? You
said internal.
Q. 'msorry. | meant to ask you about
the incremental costtest. Isn't that the one

th
2
[R)]
4
(5

Page 38
A ltcanbe expanded. yes. Ithink it
would depend upon what the firm was buying .
Q. Don’tyou state in your book, and let
me show it to you. Itis the bottom of the first
full paragraph on five oh nine. Why don’tyou

6+ test that you describe in your textbook as the 81 read that into the record?
m test for the presence of cross-subsidization? ™M A.Quote, accordingly, the incremental
th A.lreally do not remember right now (8) costcriterion must be expanded to require that
m exactly what test we talk about. Ifitisan 9y the revenue from each service individuaily and
(o) incremental cost, if we used the term incremental no for all combinations of services exceed their
{41} costiest, thenitis I think the same thing as (1) corresponding incremental costs.
(12} the TSLRIC test of Faulhaber. 02 Q. Do you agree with that statement?
(n Q. Let me show you your textbook. [t's (N A. Yes.
(14} page five oh eightand on to five oh nine, (i4) Q. And if either of the two criteria that
(1% discussion of the incremental cost test. (15) you read, that is. if either the revenue from
6 A. Let me just read, | think this will (6 each service individually or the combination of
an help, the one sentence from the text in that un services fails o exceed its corresponding
(tm) paragraph. Inits mostsimple form, the (18 incremental cost, then there is a cross-subsidy,
(19 incremental cost test indicates that if the price {19 isn’t there?
(20 charged foraservice yields a total revenue that 20 A. You know, Iam not real sure is the
21) exceeds the incremental cost of the service, then ¢25) best, honestanswer ] can give you. It would
(22) that service is not receiving a cross-subsidy, z2) fail the incremental cost test, but again it
(23 end quote. 20 would depend upon whether the purchaser was
a4 Q. Right. (24) buying just one of these services ora group of
@5 A, The incremental cost of 2 service is (25) the services. [am just not real sure, {would
Page 34 Page 36
1y TSLRIC. (1) tend to agree with you on that, but{ am not
2y Q. Butdon’tyou go on to state in your () positive,
3 book that the test in its simplest form, as you ) Q. I thought it followed from what you had
4y have just stated it, nceds to be refined 4) writen,
(5) somewhar? ) A. ltappearsto, yes. Butlam justnot
& A. ltmzy need 1o be refined, yes. (&) positive about that,
o (Brief interruption.) m Q. Isn’tthe incremental cost of a service
% Q. Justto recapitulate where we were (» or nerwork element calculated by determining the
t9 before the interruption or the break, according % total cost to the firm with the service or

(10
{1
a2
“a»n
(4
{15)
[117)
an
an
a9
20
2n
(22)
23
Qs
(25

-

from your textbook that in its simplest form the
incremental cost test states that if the price
charged for a service yields a total revenue that
exceeds the incremental cost of the service, then
that service is not receiving a cross-subsidy?
A. Yes. Again, thatis exactly the same

as the TELRIC or TSLRIC standard for
cress-subsidization.

Q. But you also note in your book, do you

not, that it is possible for the price of several
individual services to satisfy the incremental
cost test but for a group of services
collectively 1o fail that test, correct?

A. That’s correct.

Q. 50 you conclude that the incremental

cost test must be expanded, correct?

(10
({§}]
(1)
{13)
{14
{15
{16}
{an
s
{1n
an
an
12}
an
(2
as

-

network element and then subtracting from that
the total cost to the firm without the service or
network element?

A. That, what you have just defined, is

the TSLRIC or TELRIC and in the textbock probably
is just called the incremental cost of that
service.

Q. But whether or not itis a TELRIC or
TSLRIC, itcertainly is the incremental cost,
correct?

A. Yes. And inthe literature on this it

is acrually - no. That's fine. Itis called

the incremental cost. That will be all right.

Q. Thank you. Isn'tthe incremental cost

of a pair of services or elements calculated by
determining the total cost with the pair of
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services of elements and then subtracting from
that the total cost without the pair of services
or elemems?
A. Yes.
Q. Suppose that two network elements both

313
(W]
3
"
(5

Page 39
five dollars. the total incremental cost of the
two services combined is rwenty -five, you are
saying you would not price it at twenry-five?
A. If someone were buying the two elements
together, I might. 1am really honestly just not

6 havea TE or TSLRIC of ten dollars. Would you 16y sure about that. My recommendation would be if
(" propose pricing those two elements at ten 1 they were buying an element by itse!f, you would
8 thousand dollars each? 8 price iateen dotlars. If they were pricing -

& A If the size of the common costs between 19 if they were buying the two together, you might
(10; those two elements is small, then, yes, [ would, (10: mark it up some. [don'tthink this is relevant
a1 Q. And if it is not small, then you would U 1o calculations of unbundled elements. The
12 not, correct? (121 reason being is the size of the common costs that
aun A, ifitis quite large, then [ think | 13 you have imposed on the problem is very much in
(y would back off and | would then if you are going (10 excess of that that will be in place for the
(15} to buy the two elements together, then you would (15) unbundled networks clements in this industry.
(16 pay the TELRIC of the two elements together which as Q. lunderstand that is yout position, I
(10 in that case would cxceed the sum of the TELRICs (I7) promise you we are going to get to that issue.
usy of the two elements individually. s A. Okay.
a9 Q. It would exceed the sum of the two tt9) Q. But for now, whether you think that it
(20 elements individually by cthe size of the common (0 is a good hypothetical or not, I would just like
(21) costs, correct? 2 to focusonit. [justdon’tunderstand what
an A. By the size of the common costs (22) your position is because - you are just not sure
(23 associated just across those two which ix 23 whether you would do ie?

(24) sometimes referred to as a shared cost, 0 A. Letme clarify that. [think the
(251 Q. Let’s suppose that these two network s) efficiency solution is to price each of the
Page 38 Page &0

(t clements that we have been rafking about have a (1} elements at ten dollars, to price the two

) shared cost of five dollars so that the 2y elements together at twenty dollars and if there
(3 incremental cost of the two services combined is (0 is a revenue shortfall for this company, to

) twenry-five dollars. You would agree thata (4) address that revenue shortfall without distorting

{8y price of twenty dollars for the two network 9 these prices away from their economical levels.

8 elements wouldn't generate enough revenue to 6} You can think of it just like a universal service

(n cover the incremental cost of providing the two m fund or if the commission decides that GTE has

(9 elemnents; wouldn't you agree with that? () imbedded costs that should be compensated, that

o A. Yes. % the issue of how you compensate them should be
00 Q. So would you propose pricing the (10) kept separaie from the issue of efficient pricing
(1) elements together at twenty-five? (1) because it is very crucial that prices be set
02 A. No. [probably would not, and [ need an efficiently. So on reflection, what I am telling
(13 to think about this a little bit. But when you 3 you is [ would price esch one at ten doliars and
(14) are talking about - iet’s back up. | think this (4 acombination at rwenty. If it turns out there
(1 whole conversation is founded on a premise that (15) is a revenue shorfall, we will collect that
(16} is incorrect, and that is you reaily have two (16 through some sortof probably an end user
(1N very separate issues involved. One is efficient an charge.
am pricing of the elements. The other is whether (i Q. Would you agree that s price of twenty
t1im the firm recovers its costs. Those are two (9 for the two efements would involve a subsidy;
120 completely separate matters. You can have an (20) that is, if someone could buy the two elements
au efficient price that i3, in fact, receiving a an for twenty insiead of twenty-five, there would be
a2 subsidy. 22) asubsidy there?

2 Q. [am just asking how you would price 23 A. There would be a subsidy on those
a# it. You say you would not - even though ina ae prices. Now, whether or not the people buying
a3 hypothetical situation with the shared cost of %) them escape payment of the subsidy depends on how

Page 37 to Page 40
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you go about resmbursing the firm. But, yes,
those prices are receiving a subsidy.
Q. If one of the elements is priced atten
and in my hypothetical the common or shared costs
are five dollars, wouldn’t there be 2 subsidy

th
2
&
4
5

Page 43
Iam saying they can be made up through some
avenue other than distorung the prices that new
entrants coming into the market pay by raising
those prices above therr TELRICs. How thatis
made up, there are any number of ways possibie.

t6) there, 1oo? %) GTE is getting into the long-distance
™ A. Again, depending on the size of the  market, GTE is under price caps. They have lots
(& common costs, [ don’tthink that that element you 8 of opportunities for profitable venrures
(9 could say there is a subsidy, because wtis ® elsewhere. And the fact thara very small subset
(107 covering the incremental cost of providing that (10 of their services ends up being priced at
(N element by itself under the definition you gave (ny economically efficient levels and that efficient
1 of the incremental cost. Itis paying the full (12} pricing may generate a revenue shortfall for that
(13) amount of the cost being caused by the provision (13 small subset of services doesn’t mean that the
(4 of that element, the incremental cost. (19} company is going bankrupt or that the company
(19 Q. So you don't think there is a subsidy 03%) overall has any loss atall.
(16 in that situation? 16 Q. But it certainly could mean that if no
un A.ldon'tthink so. (11 adjustment is made and if for whatever reason GTE
a6 Q. But there is one if both are bought {t®) isn’table to make itup with other customers in
a9 together for twenty in my hypothetical? (9 other markets, it would by definition resultina
20y A. If there are only the two, if we are (200 loss, wouldn'tit? 0
(1) only talking about two and there is not another 1) A. Theoretically itcould. Asa practical
22} one¢ out there that may pick up those common 2 maner, [ think itis highly unlikely. And that
an costs, then, yes. 23 is what my testimony addresses.
20y Q. And you would agree with me that if, (z¢) Q. Why is it inefficient pricing to charge
25 still hypothetically, TELRIC pricing or TSLRIC (15) analternative carrier twenty-five dollars for
Page 42 Page 44
1) pricing does not cover the incremental cost for (1 two services where the incremental cost of those
() two or more elements, then it fails by definition {2) two services as you have testified is tweaty-five
» to satisfy the incremental cost test, correct? 3y dollars as a resultof five doliars of common
“r A. Yes. If we have priced them as I said, @ costs?
) ten dollars each and you buy the combination for 5t A. The problem with charging the
6 twenty and there are five dollars in shared cost, % twenty-five dollars for the two together is if
(n they are shared only between those two elements, (n you do that and then you price the individuals at
@) thenit’s failed the incremental cost test. (h ten, you have created an antificial incentive for
Q. If an incumbent selis all of its input % the new entrants then to order the individual
(o atthe TELRIC prices, won't it incur losses equal (t0) components as opposed to the combination of the
(11) to its shared and common costs? (t1) components and thereby you have in opposition of
(12 THE WITNESS: Could you read that back? (10 the intent of the act which we agreed on eardier,
(13) {Requested portion of record read.) (13 you have provided an anificial incentive to
(14) A. It will experience losses on the sale (t¢) bundle. [am sorry. Tounbundle these elements
35 of those inputs equal to that amount which then (15) and notuse the incumbent’s network as
(16 canbe made up ~ thatloss can then be made up (t6) efficiently as it might otherwise be used.
(1M through this tax that [ mentioned or pricing of (tn Q. Isn’t the answer to that to charge more
us) other services that the incumbent sells. We are (t$) than ten dollars for the element taken singly?
(19 talking about a very small subset of the total (1" A.No. The problem with doing that is
(20} number of services that the incumbents setl. (200 then you discourage any socially optimal usage of
@n Q. You are saying that the losses need to 21) the incumbent’s network because you have now
17) be made up either through some sort of 2 tax (22 priced those individual elements above their
(13 imposed by this commission or through other (23} economically efficiency levels, above the cost
24) services? (24) causarion calculated costs that are incurred in
25) A. Well, [ am not saying they need to be. (25} order to provide those individual elements.
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‘11 Q. Whatif they are priced at twelve and 3

i half?

1 A. Then they are each priced at two and 3

) halfdoltars more than the incremental cost of

151 providing those elements.

) Q. 50 the common costs just have 10 be

(M ¢aten by the taxpayer in order to have efficient

&) pricing?

& A, [tis nottaxpayer. Itwould be spread
010y across all users in a competitively neutrat
an fashion. When  used the word tax, 1 just meant
(1 acompetitively neutral method for collecting a
a3 sumof money. It may be used to supporta
(149 universal service. [t may be used to reimburse
(t5) 1mbedded costs. whatever revenue is needed for
{16} whatever purposes. The point is you don’t want
(7N to distort the prices paid and particularly the
tisy prices paid by new entrants in order to colfect
(19 those revenues.
0 Q. And your testimony is there is no
2 distortion whatsoever if these new entrants can
QY buy anelement &t ten doflars that is part ~
(23 that shares common costs of five dollars with
2¢) angtherelement? There is no distortion in that
(25) situation?
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correct that there should be that allocauon but
you justdon’t think it amounts to very much?
A. Justthe opposite. Ithinksasa
theoretical matier the FCC is wrong, because. in
effect, what they are advocating is fully
distiributed cost pricing. Butas a practical
matter, if the costs that you are going to
distribute are small, then you come close to the
theoretical ideal. So [am happy with thas,
Q. Where did the FCC in its order state
that the common costs are small?
A. They state it in numerous places. |
den’thave the order in frontof me. They go
through and explicitly exclude about eight or
nine specific items that the ILECs have argued
should be included. They also expiain very
clearly, and this is the whole reason for them
coining the term TELRIC., is to distinguish
between elements and services. And they explain
very clearly chat the reason they do that is that
the common costs associated with netwark elements
are small relative to the common costs associated
with services,
Q. So you are confident that you couyld
Find a statement in the order that says that the

Page 46
() A, Thatis economically efficient. That
2 is notdistortionary; that’s correct. Itis pure
% and simple marginal cost pricing.
) Q. Tust for my own clarification. We have
() been dealing with a hypothetical in which the
(6} common costs were stipulated by me to be five
(0 dollars. Would any of your answers or analysis
th change if the common costs instead of five
9) dollars were two dollars?
(1) A. The principles don’tchange. [ think
(1) all that changes is how close you're geiting to
(12) the ideal. And this gets to my supplemencal
(13 testimony that was filed after the FCC order, 1
. (14) am notsure if it was filed in dhis staee or if £
as) incorporated supplemental in my direct
aé) testimony. But the point is the FCC order
(in indicates that there will be an allocation of
(15} common costs to the prices of unbundled
(1% elements. Butitaiso goesto greatlengthto
(20 say thatit is going to be a very small
2n allocarion, in which case I can’t get too apset
22) because we are coming close to margical cost
(I3 pricing.
a4 Q. So as a theoretical matter, the FCC is
(15) correct - is it your testimony that the FCC is
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Page 48
cOmmon costs are or are likely to be small?
A. Yes,
Q. Itis really ap empirical question,
though. Haven’t you already testified as to
whether they are small or not?
A.lamsorry?
Q. Isn"tit really an empirical question
as to whether the common cosa are small or not
small?
A_ The exact magnitude of them isan
empirical question. However, the relative
magnitude compared to services [ think can be
addressed with very, very simple logic, common
sense, if you will.
Q. But it is still an empirical question,
isn'tie?
A. No, notentirely. If common costs stem
from the use of shared resources, as [ chink we
have already mlked about in here, and lements
don’t share much in the way of resources, inputs,
then by definition you are pot going to have very
large common costs.
Q. But it is an empirical question whether
elements share inputs, isn'tit?
A. Thatis really at engineering

Page 45 o Page 48
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Page 49
question.
Q. By empirical [ mean something thar you
get not by sitting 2round thinking about it but
by testing itin the real world through
engineeting or through some other check on
reality?
A Well, again, { am not sure how to

Page 51
v end users?
12+ A. That would be the most straightforward
n way todoit.
) Q. You regard end usercharges as
51 competitively neutral?
) A. Ilthey are imposed onall end users,
(M yes.

) answer that. Anybody that knows anything about & Q. Itis because of its competitive
% the network 1 think can make reasonabie @ neucrality that you suggest thatas a
£10y statements about the size and nature of the 00 straightforward method of compensation through
1) inputs likely to be shared among different (11} the end usercharge?
(t2y network elements. i A Yes. Ineffect. you are uaxing -
t1» Q. Soyouthinkitisoris notan (13) again tax used ina broad sense, not in a legal
ti4) empirical question as to what the size of common (L4 sense. You are taxing end users as opposed to
(t5) costsare? {15) taxing new firms trying to come into this market
08 A. Tthink that - [ will go back to what {16 and thereby creating entry barriers.
Un 1said before. I think that the precise (1 Q. If the shorefall in revenue to the ILEC
(18 magnitude of the common costs is an empirical um resuits from a decision by the commission not to
(1% question and it is one, by the way, that the FCC 9 include common costs in the prices paid by new
(20) puts the burden of proof on the local exchange (20) entranis and a decision is made to compensate the
an carriers to document. The magnitude of those [ @21 ILEC for that shortfall, you are saying the
{2 think is an empirical question. However, [ think a0 shortfall should be made up by an end user
3 that the satement that the general magnirude is 3 charge?
@24 going to be smail for common costs as compared to 24 A, Again, [ will say that is one avenue
25) the common costs of cross-services is, as [ said, @25 through which it could be done. )
Page 50 Page 52
() simply common sense. () Q. Wouldn't that mean that the ALECs were
2 Q. Ascompared to - does the FCC state ) receiving subsidy from the ILEC customers?
3} that the shared cost of elements is small or dees ) A.lamsorry. Repeatthat.
& it state that it is small compared to the common () Q. If the shortfall that results from a
(5) costof services? 9 decision by the commission not to include common
%) A.lamcertinitsays the latter. I (&) costs in the price is compensated by an end user
0 believe it szys the former as well. (n charge, wouldn't that mean that the ALEC is
Q. You are not sure, though? ) receiving a subsidy from the customers, primarity
 A. [am not positive about the former. " the ILEC customers?
{10y Q. You acknowledge in your testimony, do (1) A.No. Again, I believe that if the
(11} you not, that the possibility thatan ILEC's an prices of these elements are equal to or greater
() costs will exceed its revenues if its inputs are (12) than the TELRIC of providing those elements, then
(13 priced at TELRIC? Don’t you acknowledge thatas i3 the ALECs are by definition paying subsidy free
(14) possible? (14) prices to the CLEC and therefore they are not
usy A, Yes, Lbelicve 1 do. (15) receiving & subsidy; and moreover, their own
(6 Q. You suggestin your testimony and I (16) customers will be paying that end use charge as
(170 think you have suggested it here again today that an well.
(6 if sn incumbent is to be compensated for losses un Q. Atleastat the beginning the vast
119 resulting from shortfall in revenue, the revenue (9 majority of customers who are paying that end
0 should be recovered directly from all end users: @0 user charge are likely w be ILEC customers.
21y is that your position? an correct?
a2 A. That would be one avenue. [think an A. Cerainly, at the beginning before the
(23 there are alternative avenues as well, 23 ALECs have entered. Ifthey haven'tentered,
¢ Q. Isn’tthe one you specifically suggest @a¢) they haven't bought any unbundled elements and
(28 in your testimony some sort of recovery from ail (x5 therefore they are pot receiving a subsidy.
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Page 53
Q. But even in the persod immediately
after they enter. don't you think that in all
likelihood the preponderance of customers are
going to be ILEC customers for awhile?
A. Oh, [ agree with that, yes.
Q. Youare aware, of course, that the FCC
states that the price paid by the ALECs for
network elements and interconnection shatl
include a reasonable allocation of
forward-looking common costs, correcs?
A. Yes.
Q. Youdisagree with that, correct?
A, [disagrec with the pricing principle
involved there because it really represents
nothing more than fully distributed costs.
However, as [ indicated, once you read the rest
of the order and you discover they are really
tatking about a very small departure from
efficient prices.
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TELRIC ptices will notcreate revenue shonfall.
Is that your testimony as well on page
twenty-six?
A. That's correct.
Q. If it nsrns oud. however, that the
magnitude of common costs in the industry is not
greatly exaggerated by whatever it1s that you
said constitutes a great exaggeration, then
implementing TSLRIC or TELRIC will create a
revenue shorfall, correct?
A, They are cerainly more likely to if
those comemnon costs are large. We getback to
what we were tatking about a few minutes ago.
You are talking about the pricing of just a few
outputs among very many outputs provided by this
form. Moreaver, outputs that are provided under
price cap regulation, whereby they are making
profits on a number of other activities.
Q. You haven’tdone any study to show that

(200 Q. [ have read the order and [ have the (20) in the event of [arge common costs no revenue
au order. Iam not going o ask you to go leafing 2y shortfall will result because of flexibifity that
(7 through it. Your position is that they 22) the ILECs have elsewhere?
an specifically state that - not in a relative 3 A. It makes sense that if you are pricing
4 sense, but that they specifically state thac the 2¢y at TELRIC for a subset of services and you are
25y common costs are likely to be small? 5) pricing well in excess of TELRIC for other
Page 54 Page 56
ty A.Oh, yes. Yes. And they also have the, (1) services such as access that necessarily there
) if you recall, the stand-alone cost criteria that @ will be a revenue shonfall,
() says the unbundled element prices cannot seek 3 Q. My question 1o you was, it seems as
4 stand-alone cost. And they point out where the 4 though you are stating that there may notbe a
(5} common costs arc small that the stand-alone cost %y revenne shortfall even if there are significant
% will not be much above the TELRIC. {6} common costs because they can be made up
M Q. Where they are small. Your testimony (N elsewhere in the pricing scheme. s that what
() is that they specifically find that those costs (8 you are suggesting?
%) are small? ® A. Yes.
(19 A. My reading of the act indicates to me (100 Q. Have you done any empirical study to
{11y thatthey very clearly have that in mind, yes. (1} show chat the prices charged elsewhere are
an Q. They have itin mind, butdo they say a2 sufficient, that there won't be a revenue
ay it? 113 shortfall even in the event of common costs,
4 A, 1belicve they say it, yes. (19 large common costs, on the elements thas are soid
(13 Q. You seate in your testimony rhat, and [ {15 tw the ALECs?
(1% am quoting here, this is page twenty-six, | (16 A.lhave not personally done a seudy on
(7n believe, Go shead and find that if you would (" GTE’s costs orrevenues. 1am aware, howevere, of
ttn like. You state that some recent evidence (i) the markup sbove marginsl costs for access
(19 suggests thar the magnitude of common costs in (1 services in general. am aware of the markup
1200 the industry, the ILEC industry, has been greaily (2 above marginal coses for intraLATA tofl in
@n exaggerated. Was that your testimony? a1 general, the markup above marginal costs of
1) A. Yes. @2 vertical services in general. And [ know that
an Q. And you state that if that is the cage, % all of these sérvices arc generating at revenues
2¢) if the magnitude of the common costs has been 24) well inexcess of marginal costs. Andasa
an greacly exaggerated, then implementing TSLRIC or @5 result, even if common costs are present and are
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large among these network elements, which |
believe is not the case. then it is stifi not
clear that if you price these elements to
competitors at TELRIC that there wilibea
revenue shortfall,
Q. So your testimony is it is notclear,
You don’t know one way or the other?
A. That's correct. [have serious doubts,
let me put it that way, that there would be a
revenue shortfall for the company as a whole.
Q. That is not stated in your testimony.
Your testimony just said it wasn’tclear.
Doesa’t your testimony say it is notclear as
opposed to you have serious doubts?
A. ! had a phrase in my testimony in the
back of my mind I betieve where Il indicated that
1do have serious doubts. Whether [canumio
it at the moment or not —
Q. Well, if you can’t{ guess the
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exaggerated. [amirying to find out who is it
thatexaggerated them and what did they say thay
constitutes the exaggeration?

A. The source I think that I had in mind

when | was writing that was some of the
statements by the ILEC"s economic experts in
various proccedings. Robert Harris I know,
Richard Emerson has made similar statements to
the effect that the forward-looking common costs
of these companices are quite large. Thave seen
statements that they are fifty percent of the

total revenues of the company.

Q. You consider that a greatexaggeration?

A. Isuredo.

Q. Was there any other - you mentioned

several sources, Harris and Emerson, [ believe?
A, Yes.

Q. Anybody else that you were referring to

when you said that the magnitude of commeon costs

(20) testimony - if you want to look for it, that's (2 has been greatly exaggerated?
@an fine. Otherwise, the testimony [ guess speaks e A. Company witnesses [ think have made
@2} for itself and is before the commission. a2 similar sort of statements.
2 The evidence that you were referring to a» Q. Do you have any particular ones in
24) in your testimony that you say is recent evidence ae mind?
(s) suggesting the magnitude of common costs may have a5 A. No. Itisjust general recollection
Page 58 Page 60
(1) been greatly exaggerated is a statement in the ¢ from things I have heard in hearings and
(0 affidavit of Baumol, Ordover and Willig, is it @) testimony that | have read.
(3 not? & MR. MIRENGOFF: Ifitisokay. Tracy, I will
9 A. Yes. i # take a short break at this point.
$) Q. That was an affidavit prepared for AT&T %) (Brief recess.)
(6) asanattachmentto AT&T’s commeat to the FCC? © Q. Do you agree with the sutement in the
M A.Yes. (n affidavit before the FCC of Baumol, Ordover and
1 Q. In that affidavit Baumol, Ordover and ) Willig that at a finer level of disaggregation
 Willig state, and this cited at footnote sixteen  there may well be nontrivial costs shared among
(1) of your testimony, we understood that the portion (o variots subcomponents of any particular
an of forward-tooking costs that is yaacrributabile (itj sggregative network elemeat?
un to particular network elements is likely 10 be (A, Ingeneral, I would tend to agree with
a3 small, Do you see thar? (3 that stueement, yes.
14y A. Yes, a4 Q. Do you also agree with the FCC order at
9 Q. Do you know where Baumol, Ordover and (15) paragraph six ninety-five, quoting here, at the
® Willig got chat understanding? (16 sub-clement {evel of study, commos costs may be &
('n A. No, [donot. an significant proportion of all costs that must be
(8 Q. Which siements of the magnitude of (s received from sub-clements?
(1% common costs that supposedly are exaggerated are (" A.Iwould agree in general with that. 1
2% you referring 1 in your testimony? (20) am not sure what they mean by sub-element level.
an A.lamsormy? a1 Q. Whatdo you underscand chat to be?
an Q. You said ia your testimony that recent an A. Well, Idoa't.
(23) evidence, which murns out to be Baumol, Ordover @3 Q. Is it your view that the measurement of
3¢ and Willig, chat recent evidence suggests that @4 costs should be as consistent as possible with
(1% the magnitude of common costs has been gready (23) principles of cost causation?
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A Yes
Q Isitaiso your view that accurate

iy
12

Page 63
Q. But youdon'tdisagree with the
principle that whatever incremental costs are

J: :::;:;?:::]z:::sf;c:::‘s with tf}'elr underlying 0 ncurred by provjding the services to the ALECs
1 pomp:, ‘ t) thatconsistent with cost causation principles
19 A Exceptfor the word dz_smbuuon. I i$) should be factored into the equation. correct?
16 tend not (o use the word distributed with the i A. Factored into the equation in a sense
(0 word cost. [think the word is attribution. o that the ILECs shouid receive compensation for
) Maybe we should look it up. @ incurring those costs.
Q. {wasn'tquoting from anything. ® Q. Youdon'tdeny that the ILECs will
(or A. Well, Liry not to use the word tt0) incur some such costs, correct?
(111 distributed — 11y A.Tdon'tdeny that they will. The
a2 Q. So you would agree that accurate (i crucial question is how large are they. Thisis
3 attribution of costs with their underlying causal t13) partof the FCC, [ think, approach of punting the
114y drivers is important? {14+ burden of proof of them to de monstrate those
sy A, Yes. as costs.
16y Q. With respect to the pricing of (& Q. Thatis an empirical question, isn't
un wholesale services, you state st page thirty-two an i?
(18) of your testimony . turn to that if you like, you un A. Yes, itis.
(9 state that the aveided cost concept suggests that 9 Q. Do you recommend that in calculating
(00 the wholesale discount should reflect incremental 20y GTE's avoided costof retail, the commission
121 costs. Isn'tthat your testimony? 200 should assume that GTE has left all retail
22) A. Thatis my testimony. [ think [ {22y markers?
% clarify that by incremental cosis we are pow 23 A. [think that in principle thatis a
@4 talking about incremenal costs, if you will, (24) reasonable way to go about calculating the
(25; going in the apposite direction. Idon'tuse 15) avoided costs, because we don’t expect them to
Page 62 Page 64
(1) these words in the testimony. But going in the (1) leave the retail markets, bue the discount is not
) opposite direction of the incremental costs of <) applied to all units. It is only 10 those unity
4 unbundled elements; that is, we are looking at ¢ that the new firms purchase when they come into
(4) costs that will be avoided by the incumbent (4) the market.
5) ceasing to perform retail stage activities. % Q. Butisa’tit reasonable to Assume that
% Q. Understood. And you say, do you not, (&) GTE's retail cost saving per unit will increase
(M thatin the avoided cost context, increments! (0 with the percentage of renail customers it loses
®) costs means the cost of reducing or eliminsting 5) 10 new encrants?
%) the ILECs reaail stage operations, correct? ® A.I'msorry. Youare going to need to
on A Yes. (103 restate that for me.
an Q. By the same token, shouldn’t {1y Q. Isn’tit reasonable to assume that
(12} incremenmnl costs for purposes of the avoided (122 GTE’s retail cost savings per unit will increase
(13 cost model also take into account the incremental (t3) with a percentage of recail customers it loses to
4y costs of providing wholesale services to (14) new entrants?
s resellers? (15) A. [really don't know if that is
ts A. Ingenesal, yes, that should be taken (16 reasonable ot not.
(n sccountof. Thatis part of what ] have proposed (n Q. That is an empirical question, to0,
(8 inhere. Thatis, in fact, included in there. (b isn'tit?
(1 The so-called costonsets. You have to make s (t% A. That would be an empirical question.
20) distinction with regard to these, I think, about m There may be some theoretical insight that could
21 the magnitude of them and sort of the nature of 21) be gained, but [ really have not thought about
22y them. Ace they cost onsets that are caused by - @2 that, Idon'tknow,
) going back {0 the cost causation principle, % Q. Let's suppose hypothetically that the
24 caused by the provision of those wholesale . 4 netssvings o GTE of abandoning atl reail
13y services, and if 50, how do you recover them. (2%) activities in 3 paricular market is twenty

Page 61 to Page 64
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percent of the current rewail pnce. Do you have
that in mund, that assumption?
A . That their cost savings, their avouded
costs, are twenty percent of the retail price?
Q. Yes. Inasituation where they abandon
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Page 67
A. That's correct. [cannot say if that
1S an accurate assumprion. Again. Tam notthe
person that calculates the avoided cost.
Q. In this hypothetical that [ have asked
you about assuming stil] that the wholesale

) all retail activities. 6) discount is setat twenty percent, then an
™ A.Okay. ™ alternative carrier whose retail costs are ten
1 Q. And I will ask you 10 suppose further (% percent at the ten percent market share that it
%) that AT&T signs up ten percent of GTE's retail % caprures could profitably enter the market,
{10) customers. (1o correct?
(n A. Okay. an A.U'msorry. [guess [am justtired.
(121 Q. And suppose further that the commission (121 1f you could repeat that.
(13 goes ahead and adopts twenty percent avoided cost an Q. Iwill try to. Weare talking abouta
(14 discount based on a calculation which assumes (14) wholesale discount rate has been set at twenty
15 that GTE is out of the rewail market. (15) percent. The alternative carrier captures ten
6 A. Okay, a6} percentof the market and at that ten percent its
(in Q. But suppose it turns out that when GTE (an reuil costs are also ten percent.
(t»y loses only ten percent of its customers the (s A, Butitis getting a rtwenty percent
(19 actua! avoided cost savings turm out 1o be only (% discount?
0 say five percent. Qo Q. Yes. Andunder those set of facts, the
an A. You want me to assume that? 21) new entrant couid profiably enter the market.
@ Q. Yes, Ido. You've already said you a2 correct?
(13 don’tknow what would happen and thatitis an 23 A. Holding everything else constant, yes,
(z4) empirical question. [am asking you to assume 24 that would be an attractive market for them to
25 those facts. What would happen to GTE's profits (1) enter, whether their ten percent costs are due to
Page 66 Page 68
(1 inthat situation? (1} anoverestimate of GTE's avoided cost or whether
) A. Wedidn'teven need all the @ itis due to superior efficiency in providing the
h hypotheticals. If you set the wholesale discount ¢ remil stage. As long as their incremental cost
&) attwenty percent instead of five percent, their (4 is fower than the discount, they have an
) profits will be lower, [ would imagine. (5 incentive to enter.
6} Q. So if it turns out that the discount 6 Q. In my hypothetical which we have been
(™ rate is calculated on the assumption that they (n working with, recall that GTE's avoided costs for
) lose all of their customers and it is also true ) ten percent of the market turn out to be let’s
& that when they don't lose all their customers, ® say I think was it five percent? Under those
0 when they losc only a small fraction of their (107 facts a less efficient — an ALEC thatis less
Q) customers, the twenty percent discount mms out (11) efficient than GTE at retailing to that ten
(12} not to be the right empirical number, in that (12) percent of the market would be able to enter
(3 scenario GTE would lose profits, correct? 3 profiably, correct?
04 A. Yes. What you are posing is very (14} A.1seethe question. Certainly, if you
(135 simply a situation where for whatever reason, in (15 bhave set the wholesale discount ata level that
(16 this case a bad assumption, if for whatever (16 exceeds the avoidable costs, you have createda
(17 reason we misestimate the avoided costs, then GTE (im simation under which ineflicient entry can
an will lose money if we overestimate them; then (s oceur,
a9 conversely, of course, they will gain money if we a9 Q. Am I correct that you propose 0
o0 underestimate them. @0 include as an avoided cost any positive profit
an Q. You don't know whether calculating the @ty eamed by the ILEC atthe renail stage?
@2 avoided cost on the assumption that GTE loses all ab A. With some clarification. [have
@3 of its business is going to be a good assumption (@) proposed any positive economic profit.
24 in the situation where GTE loses oaly a small a4 Q. Right.
% portion of its customers, correct? s A. Which means an excess accounting profit
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above the competsive level.
Q. Postuve economic profit which you
equate as excess profit?
A Yes.
Q. And you propose to include that
positive economic profit or excess profitas an
avoided cost?
A. As 2 theoretical proposition, it should
be included as an avoidable cose.
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Page 7}
A No. I'have thoughr about that some . 1
reatly don’t think i wouid. I chink the way to
g0 i5 to take the to13] excess profit in the
provision of that service and count that as an
avoidable cost. Thatway you expose the full
operations of the incumbent LEC 1o the forces of
the competitive market.
Q. So evenif you could separate them our,
your testimony is you wouldn't want to?

11 Q. And you define positive economic profit 110y A. Idon'tthink you would, no.
t11y as the excess abave normal rerim on the firm's ttiy Q. Is that consistent with general - do
(1) activity atthe retail stage? 11y you think the economic profession would agree
(i3 A. That's correct. 113) with you on that, if you know?
e Q. Soam [ correctthat your proposed (141 A. [ mean the answer 1o that is always
15 discount for excess profit refers oaly to recail {15} going to be yes. [am sure you can find somebody
(t6) level excess profits in this context, correct? t6) that won't, but | can find some that will.
on A, Ldon't reaity think that you could «n Q. Youdon't know whether - is your
(I8 break the profit down into retail versus (L) answer that you don't reaily know?
(15 wholesales. [think it would just be the excess 9 A.ldon"tknow. This is something |
200 profit on the sale of that service. 20 don’'t think there has been an awful ot of
21 Q. So you are going to try to identify 2t} literature on.
@ firm-wide excess profit and include all that as 2 Q. S50 in 2 hypothetical situation. if the
{2 anavoidable costof getting out of the retail a» wholesale cost of a secvice is three dollars and
(24 business? (24) the rewil cost is three dollars and the retail
(25) A. It would be the markup at the retail @5 price is ten dollars, in that scenario the
Page 70 Page 72
(1) stage above the total cost, economic cost, of () revenues are four doflars above cost, correct?
@) providing that service, would be the excess @ A. Yes. Now, keeping in mind that both of
0 profit for that particular service or element. (» the three dollars that you mentioned as cost
) Here we are talking about services. # figures include s normal profit on the provision
15} Q. Its economic profit at the renail % of those services.
(6) stage, then? ) Q. Right. In that scenatio the tevenues
A, Economic profis is an excess retumn ™ are four dollars above costs?
« overall of your costs in the provision of that A, Yes,
9 service. So it would include both wholesale and ® Q. And you would not try to sllocate those
o rewil. {10y four dollars between wholesale and retail,
an Q. Why are you going to consider as an @1y correct? You would deem it all as excess profit
(a2 excess profit to be deemed an avoidable costat (2 or you would deem it all excess profit and
13 excess that occurs at the wholesale stage which (13 include it as an avoidable cost?
a4 they are sill going to be in as opposed to the (4 A, Yes.
s retail stage? s Q. How would you decide what component, if
(16 A. Well, again, [ don’tknow how you would (15} any, among that four dollars chat you ase calling
o splitup the current excess profit between the (n excess profitis the result of common costs,
116 wholesale stage and thé reaail stage. un forward-looking common costs?
(m Q. You can’tdo that, can you? a9 A. [don't think chat we are going to run
a0 A. You reaily can't. Asaresult, I think (2% into the problem of the common costs here. [am
21y you would take it service-wide which leads you 1) not sure. 1haven’tbeen asked this before.
22) then to a more efficicnt wholesale price. @) Haven'treally thought about it. [don'tthink
% Q. Butif you could separate them out, 3 you runinto that. Because the profitis
24y theorerically that would be the way @ go, @4 calculaced as an excess above toral cost, not
i25) wouldn’tit? (25 above incremental cost. So you are really going

Page 69 to Page 72
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to be looking at average cost here instead of
incremental.
Q. In my siruation the wholesale cost was
three doilars.
A. Wholesale whatcost? Marginal or
average?
Q. The wholesale cost of the service,
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Page 75
the wholesale level may not include common
costs. There may be 2 COMMON cost as you
testified before can’t be atlocated to that three
doilars, correct?
A. This, again. this is purely
definitional. You keep referring to costs and
you are not putting an adjective in front of it.

i A. Marginal or average cost? # And [ need an adjective in frontof it Iris

% Q. What is being paid. t either incremental or average.

(1 A. Atthe margin oron the average? The (10 Q. Call itaverage, then.

(11} question you've got 1o specify - if we are going 1 A.Ifitisaverage, then common costs are

un tacall the four doflacs an excess profit, then 12y included init. Thatis what you have to have
(13 the two three dollars figures you have quoted me {13 here to calculate the four dollar profit from the
(1¢y will be average costs, not marginal costs. And (14) ten dollar price and two three dollar costs.
(5 the average costs [ think will include the common (15) Those have to be average costs, because your
16 costs as well. So Idon’t think there is going (16) total costs - for this to be a profit, your

(170 to be a common cost left in that four dollars (fn total costs have to be six dollars. Thatsix

1% that we then will have to worry about allocating (n dollars hasto be your total cost which includes
a® orrecovering. You are not making aloss. You (19} your common cost.
(20) arc making a profit. @0 Q. {don'twant to assume it is a profit.
21y Q. There can $tili be common costs even 21y I'wanttoassume thatitis an excess, but it may
22) when you are making a profit, correct? 22} notbe a profis. It may be the resultof
23 A. Yes. Butthe profit will be in excess % profit. It may be the result of common costs
26 of common costs. (24) thatcan'tin your analysis be actributed because
29 Q. All we know in my hypothetical is that (25) you don’t waat to distribute them.

Page 74 Page 76

() anaverage costis three dollars, correct? We m A.Ifitis nota profit, [ have proposed

@ don'tknow whether there are common costs @ taking itout.

% associated with that or not, do we? 3 Q. Howdo you know if itis a profit or

) A. No, notin your hypothetical, we 4 not?

%) don't. Butthe point is that profit is by (5} A. Because we can look at the company's

& definition simply total revenue minus total (® total revenue and their total costs and see if

(n costs. And the total costs would include the (n they are making a profit.

( cOmmMOn Costs, & Q. That would include common costs,

% Q. Butit may be that that four doliars » correct?
(t0) that you are calling profit isn‘t really profit. am A. Yes.
(i1} It may be - reflect common costs, correct? 1} Q. Ificdidn’t include common costs,
(t2) A.No. If lam calling it profits, it’s (12) there would be no way to tell, right?
ay profit. (% A. I[f there are common costs, they need (0
() Q. ltis my hypothetical. (14} be included if you are calculating profit because
sy A. It's your hypothetical, but it is my (15 profitis an excess over the company’s toial
(16 terminology. A profitagain is simply your total (16} costs.
(in revenue minus your total costs, not your (n Q. Let's assume that in the state of
(8 incremental costs. That is why I was sayingona # Florida GTE makes a high margin on tol and
(19 unit basis, then, these three dollar figures that m venical services and fet’s assume, 100, that
207 you are quoting 1o me have to be sverage costs, @ GTE's residential basic services bring in less
1) not incremental costs. 1) than TELRIC.
) Q. Burthat three dollars - let's an A. TSLRIC?
) assume - forget about what it is being sold at, an Q. All right. TSLRIC. Do you bave those
24 whether there is a profit or not. The three 24) assumptions in mind?
25) dollars that it is costing for this service at 25) A. Yes.




BSA
==

David L. Kaserman

October 4, 1996

XM AXIIO

el
2y
(1]
"
3

Page 77
Q Let'sassume that competition reduces
economic profits to zeto in refail markets and
that unbundied elements are boughtat TELRIC as
vou recommend. And zssume further that the firm
1s efficient. Under these assumptions, could
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Page 79
Q. Butitcould involve significant
regulatory involvement, correct?
A if they want o get involved in chat
estimation, then they could, yes. [doa’t know
how significant it would be. But they would have

t61 basic residential services continue to be priced” 1) to be provided daw.

1 below cost? 1 Q. Should positive or excess profit at the

) A. Letme getthe assumptions down one 1y reuil stage be compulted service by service or

t9} more time. We've gothigh margins on tofl and @ for the firm as a whole?

uo vertical services. a0 A. We get into a very pragmatic issue on

nn Q. Correct. {11y thatpoint. And you could ask the same question
0 A. We've got residential we are assuming (12 about the overall wholesale discount. Should
113 is priced betow the TSLRIC of providing that (13 your twenty percent discount that we talked about
(14) service, (4 earlier apply to alt of the firm's services or

as) Q. Correct. {15) should we estimate an eighteen percent discount
(16 A, We are assuming competitors enter a6 for some and thirty percent discount for others?
um retail markets and they push the company’s (n The answer is, as a purely theoretical mater,
(6 econotnic profit to 2ero. And then there was one an you would do it service by service. Butasa .. -+ -
(t9 other. I'msorry. Iwastrying to write these (1% practical issue it is not clear that thatis

(20} down. 20) possible to do accurately.

an Q. There are actuaily two others. 21) Q. So your answer thea is as a practical

22 Unbundled ¢lements are bought at TELRIC as you 221 matter it may well be necessary, staying with my
(23 recommend. and finally that the firm is 23 question, the issue of positive or excess
4 efficient. (24) profits, to determine it firm-wide?
(25) A.lLhave gotthe assumptions. 25 A. Yes.

Page 78 Page 30

() Q. My question to you is, could basic Q. What portion of GTE's rate of return in

) residential services continue to be priced below 2 Florida is excess?

3 cost? ) A. Thave notlooked at GTE's rate of

4 A. Yes, butonly if there isatax ) reurn. [do notknow.

(5 collected from outside this set of prices to % Q. You propose. do you not, that the

6} reimburse whoever is providing those residential 6} avoided costcalculation include a componeant for

(n services and below cost rates. Tax, again, used (n costs at the retail stage thatare artributabie

& ina very broad sense. ) to production incfficiencies or *fac,” do you

» Q. How would it be determined under your % not?
oo proposal for computing avoided costs what level {m A. Yes.
a1 of economic profit by an ILEC is positive or atr Q. Do you have any knowledge that GTE has
(12 excess? (12} significant production inefficiencies at the
un A. Any accounting profit that exceeds a (t3 rewil stage?
4 normal accounting profit for a firm with similar (14 A. Asa regulated monopolist, I would be
(% risks would be excessive profit. (19 extremely surprised i€ they didn'c. | have not
(16 Q. Wouldn't this require a regulatory (16) done & study of their efficiencies. 1have no
(n determination of the normal rate of return? (17 empirical data 0 base thaton. Simply
us A. Yes. (1)) experience with all other regulated monopolists
(i Q. Wouldn'i that involve significant (9 that [ have seen studies done for.
Q0 regulatory agency involvement in the process? an Q. Whether they acmally bave production
an A.[am really aotsure, [ think it @i inefficiencies at the reail stage isan
zn depends on how much the regulatory agency may 2) empirical question, isn'tit?
a3 rely onthe parties involved to come up with cost @m A. Thar’s correct.
o estimates and profic estimates to provide to 24 Q. And you have no basis other than your
25) them. (25) general experience with regulated entities that

Page 77 to Page 80
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Page 81
producthion inefficiencies exist at the rewl
stage at GTE; s that correct?
A_Thar's correct. And the nice thing
about the avoided cost rule that is propased in
my testimony is thatif they are efficient, then
that term is simply seito zero. That takes that
possibility into account.
Q. Do you have any knowledge that GTE
receives excess of positive economic profits in
Florida?
A. Oh, I think on some services, I think
the services you talked about a moment ago,
intraLATA toll vertical services and certain
careier access, that it is extremely likely that
they do.
Q. Wasn't your testimony that we would see
whether they - foc pragmatic reasons, we would
see whether they receive excess profit firm-wide,
on a firm-wide basis?
A. I'said that may be the case, 1really
don‘tknow. Itdepends. The practical issue is
can you estimate it service by service o can you
do it company -wide, and I don’t know.
Q. Do you have any knowledge company-wide
that GTE receives excess or positive economic
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Page 83
A. There 1s some incentive: thatl’s
correct.
Q As o whether the price cap sysiem or
the rate frecze creates more incentive, you don't
have a position?
A. That's correct. Ichink thatit
definitely provides an incentive to reduce your
costs. Butthere is more than one way to reduce
costs.
Q. Whether it provides incentive to reduce
inefficiency you are agnostic on?
A. Inmy opinion the jury is still out on
that.
Q. Yam going to offer another
hypothetical situation. In this situation it is
similar to the last one. In this situation the
cost of a monopoly input is three dollars and the
retail cost to the ILEC is threc dollass.
A. Can you explain 10 me what you just
said? You are alking about the retail price
that it charges for its output o the cont of
producing -
Q. The cost of retailing it is three
dollars,
A. So you are saying the wholesale cost is
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profits in Florida?
A. Again, Thave not looked at their rate
of reurn. [do not know the answer to that.
Q. 1f an incumbent LEC is subject 1o a
price cap system or a rate freeze, wouldn't that
create 2 major incentive to reduce inefficiency?
A. You have hit on a topic that is a bit
of & pet peeve of mine. There it a widespread
belicf I think among economists at this point in
time that price caps provide a superior incentive
for cost reduction. But the people that have
looked at this I think in more detail have
started to question that. Because in practice
the way price caps work is very much like
standard 0ld rate base rate of return regulation
which aircady provides an incentive for cost
reduction in the form of regulatory lags that
occur between rate hearings. So therefore itis
aot clear that they bave an incentive to imprave
efficiency that is greater than the incentive
that was provided before, but | am agnostic on
that. Irealiy don't know.
Q. So your testimony is that even without
this price cap system there is some incentive 10
reduce incfficiency, correct?
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three and the retail cost is three?
Q. Yes.
A. And we are uiking incremental or
average or does it matter?
Q. You may have o tell me.
A. Okay.
Q. But in any ¢vent, the costof the input
or wholesale is three dollars and the retaif cost
is three dollars and the retail price is en
dollars. Is it your understanding that under the
pricing approach advocated by Dr. Sibley and GTE
which is called M-ECPR that the input should be
priced at sevea dollars?
A. ldon’tkuow. |am not sure what
Sibley's proposal - the ECPR that be has
proposed, what price that would generate for that
wholesale secvice.
Q- Isn't the M-ECPR approach basicaliy to
take the - involve the concept of the
opporunity - the lost oppormunity of the
opportnity cost of selling the input?
A.Yes. And ] will add the adjective
private opporwnity cost of the firm selling the
product.
Q. And in this situation isn’t that seven
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11 dolfars? 11y these costs are the true economic costs at these
21 A, Well, no. [ think the opportunity cost t2) two stages and that therefore we do have four
8+ here would be the profit which would be the four %) dollars in excess profit present. And that is
) dollars. y the difference - the fundamental difference. |
51 Q. They forego the four doilars? 15) believe. between the Sibley proposal and my
e} A.Right. And they will save three i proposal. [ would expose by pricing the
(7 dollars on the retail activities. (m wholesale service at three dollars. it would do
) Q. Right. #y two things. Firsiof alt, it woutd fully
 A. Assuming that is all cost. There is no %) compensate the company for the provision of that
a0 farin there. There is no incfficiency. There o wholesale service. Tt would provide them a fair
(1) is no profitin that three dollars. t1y rate of return or a normal profit on the
an Q. Isn't Sibley's calculation in that 13y provision of wholesale service. More
(% situation seven dollars? (13 importantly, it would expose thatten dollar
s A. lbelieve it would be. yes. 14) price which is by definition above the
(1) Q. Soitis seven dollars? (15) competitive level. Thatis why [ had a little
16 A. Forthe wholesale service, would be the ti6y probiem with imputed price floor of ten dollars.
(tn price. U7 He talks about using a competitive price asa
8 Q. That is what GTE is proposing in that s ceiling. But this is obviously not 2 competitive
(19 hypothetical as you understand it, correct? (t9) price of ten dollars. Butby pricing the
an A. Yes. 1200 wholesale service at three dollars, you then
an Q. Would [ also be correct in calculating (21) expose that ten dollars to attack by competitive
(x2) the imputed price floor for the ILEC in the 22y market forces.
23 retail market at ten dollars in that 3 Q. My question to you, though, is in this
24 hypothetical? (24) situation with the imputstGon is the ILEC able to
251 A. Ibelieve that would be correct. (25) implement a price squeeze against an equaily
Page 86 Page 33
(h Q. In chis situation, this hypothetical, th efficient rival?
(1) with imputation is the [LEC able to implementa 3 A, No. They arc notable 1w do a price
(3 price squeeze against an equally efficient (3) squeeze if that price stays st ten dollars and
) rival? ) the wholesale rate stays at seven.
) A, Inthe situation you have postulated, %) Q. Let’s continue to assume that there is
(& if the costs are efficient costs and you have the © no facilities-based competition and the supply of
(m imputation and you have the price at seven M the monopoly input snd let’s aiso suppose that
(® doilars, then I believe the ECPR or even the (% consumers buy from whichever firm has the lowest
9 M-ECPR yiclds the exact same result as my aveided (9 price. Areyou with me?
(10) cost pricing rule. That is pointed out I believe u® A. Yes.
(11} in a footnote in my testimony. You get the same (1 Q. And suppose thai the eptrant and the
{12y answer under certain conditions. {12y incummbent are both charging a retail price of ten
3 Q. So you are stating that in that (3 doilars initially, correct?
(14) hypothetical situation where the retail price is 14 A. Olay,
a3 ten, the wholesale price or monopely input is (19 Q. And let's say the entrant cuts its
(16 three and the retail cost 10 the [LEC is three (& price to nine dollars. Just for the record, you
(7 and the company is efficient, you would propose M hive that assumption in mind? [ saw you nod your
(18) to price that input at seven dollars justas 0 head. You have that assumption in mind, chazthe
a9 Sibley would under M-ECPR? {19 entrant cuts its price to aine dollars?
20 A. Well, let me think about thats o A, Yes.
21 minute. | think the difference would be in the at Q. Under the assumption dhat consumers
a1 profits that the company is earping. Sono, [ @2 continye to buy from the low-priced irm,
2% would propese it be priced at three dollary. @0 wouldn’z it be true that the market price has
20 Q. So we do have a difference at leas? a# just falien to nine dollars?
2% A, Yes. Thatis assuming, of course, that +(25) A. [ think by definition it's fallen to

Page 85 10 Page 88
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Page B9
nine dollars. The question is, of course, if the
entrant is only just as efficient as the
incumbent, it is now losing a dollar on every
unit that it selis.
Q. Under the M-ECPR approach advocated by
Dr. Sibley, what happens 1o the M-ECPR price at
that peint when the retail price is cut 1o nine
dollars by the entrants? It f2lls to six
dollars. doesn'tit?
A. If that becomes - again, if that
becomes the market price, which under his
proposal the only way that can become the market
price is if the entrant is more efficient than
the incumbent and shares then that superior
efficiency with its customers by charging this
lower price that is just equal to its cost. The
question is why would they do that unless the
market had become fully competitive, which with
just some marginal entry that is not going to
happen.
Q. Suppose they are able to come up with
the input for a dollar less?
A. Then they are more efficient. And the
question: is do they make a dollar in profit and
continue to price at ten dollars or do they eam
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Page 91
notdetermine the market price. So [ mean if
Professor Sibley wants 1o say anybody that comes
in that wanes to charge nine doilars he wiit
change hts price ceiling and his imputed floor to
the lowest price anybody in the market is willing
to charge. then that is how it would work. Butl
don’t believe chatis his proposal.

Q. Doesn’t he propose under M-ECPR the
M-ECPR price is dynamic; thacis, itdoes change
as entrants do certain things in the course of
cntering?

A. Well, itis a bit of a Caich-22,

though. If1am an equally efficient entrant and
Fcome inand | am paying seven doliars, how am1
going to lower the price to nine? [can't. [
would go broke.

Q. If you can come up with the input for

iess.

A. Where are you going to do that? Now we
kave got & new 2ssumption; that is, you don’t
have a monopoly to saart with.

Q. Aren'tloops purchasable from peopie.

other than the ILEC? Where does the [LEC get
them?

A. Youcangetthem. Idoubtif youcan
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Page 90
zero profit? Tharis what[ was saying. It
depends on how quickly this market becomes
effectively competitive.
Q. Butif for whatever reason they are
able 1o drop or they do drop the price to nine
dollars, that becomes the market price and the
M-ECPR price now becomes six instead of seven;
isn’t that correct?
A. That is my understanding of how itis
supposed to work, yes.
Q. Atthat point what is the effect on the
entrant’s profit when the M-ECPR drops to six?
A. Again, this goes back to what the
entrant’s costs are. If the entrant's marginal
costs, average costs of providing the recail
stage activity is two dollars, then they will be
carmning a dollar profit at six dollars. If they
had simply undercut and were making 2 loss at the
nine dotars, then their profits would return to
normal.
Q. Once the M-ECPR price drops from seven
1o 5ix, then the drop from ten (o nine in the
entrant’s price doesn’t affect its profits, does
it?
A. Again, the question is one entrant does
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Page 92
get them for less. Idon’tknow. The
assumptions have changed here dramatically. And
that is all of a sudden we have gone from an
assumption, which [ think the whole
telecommunication act holds, and that is that
these firms do have monopolies in the provision
of these inputs.
Q. Isn't it an empirical question as to
whether right now loops, for example, canbe
bought from other than the ILEC?
A. Well, again, you have changed the
hypothetical here on me again. We are not
ralking about loops. We are talking about
wholesale services. You are going back 1o
unbundled elements.
Q. Well, I was. Thatis why Ialked
about monopoly — my quéstion was in terms of
monopoly input. This was an M-ECPR.
A. I'msorry. thought we were malking
about wholesale services. You said the wholesale
price is three doliars.
Q. No. [said the price - [ thought I
said the cost of the monopoly input is three
dollars.
A. Wholesale services is a monopoly input,
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tou. If [ am coming o this markes. {cancome
1n by buying wholesale services or [ cancome in
by buying unbundied elements. Either way they
ar¢ monopoly inputs. Thatis where we departed,
1 guess. You want to talk about unbundled
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to nine and the M-ECPR price drops 1o six”
A. Ldon'tthink there would be an effect
on their profit. They ought to be able 1o buy
the input for a dollar cheaper as well.
Q. Is there a price squeeze anywhere in

) clemems”? ) thatscenaro, the possibility of a price

M Q. Yes. . (Mt squeeze?

i A. The answer, [ think, is pretwry much the @y A. No. Idon'tsee the price squeeze

9 same anyway. And thatis you are now postulating 9 occurring under that panticular scenario.
(1o a situation where the local exchange company does uor (Brief recess.)
b aothold significant monopoly power over the t1y Q. In your rebuttal testimony, Professor
tin supply of unbundled elements. u2 Kaserman, which I think is Exhibit 2 before you,
an Q. [amanagnastic - in my hypotheticat (t3) you state on page three that the [LEC has
{19y I'm an agnostic on that. I'm just saying that (14 substantial market powerin many areas. Do you
as for whatever reason, and perhaps because they are (t5) see thae?
(16} able to obtain the element elsewhere or for some (16) A. Yes.
{17 other reason, they drop the price to nine an Q. What is your basis for that statement?
1% doltars. Authat point the M-ECPR price drops to (8 A, [ think my basic basis for that is
(9 six dollars and the effecton the entrane's (9 fairly common knowledge in this industry and also
(200 peofits are unchanged, correct? 0y my background in antitrust. 1f you look at
au A, If we want to drop the assumption that (21) market shares and/or you look at entry barriers,
2 unbundled elements are supplied under monopoly 22y you find very substantia! measures both in this
3 conditions, then ~ and we want to make an (23) industry.
(4 assumption that entrants can get into this market 26 Q. What is your definition of market
25) atrelatively low barriers to entry, then we zan (15) power?

Page 94 Page 96

() just go ahead and cut to the chase here and we 1) A [tis the ability of a firm to controt

) can sty the retail price will be driven to six 21 the market price basically.

¢ dollars and the whoiesale price would be driven ) Q. Do you have any evidence that prices

# tothree. Thatis what has to happen if we have 4 deviate from marginal costs or total service

(%) competition. {5} long-run incremental costs in the local exchange?

© Q. Alllam suggesting to you, and pechaps 5 A, Yes.

" in the hypothetical the element that is being (n Q. Whatevidence is that?

o supplied at ten doilars by the ILEC can be 3 A. Various estima(es that [ have seen in

0 obtained ¢lsewhere - that the element can be (0 various local markets of the prices in the
(10} obrained at a somewhat lower cost from an 10y marginal costs of the three services we have
11} alternative source. Thatis a possibility, isn" (i) alresdy talked about: che carrieraccess
a2 it, for any particular local element? Qb services, the intraLATA wll services and the
a3 A. ldon’tknow thatitis a5 a practical (1% vertical services.
(14) matter. Butif thacis the case, then what you (9 Q. Do you have any evidence that looked at
ti$) have done is you have moved one step a doilar, ia (15 overall in terms of all services that prices
6 fact, closerto a competitive price for one of (16 deviate from margioal costs or total service
amn the unbundied elements which will definitely un long-run incremental costs in the local
(15 drive down the rewil price. And under agy sort un exchange?
019 of proposal that sets the input price on the (9 A. Well, Idon’t chink that answer - |
20 basis of the retail prices in the market, then an don’t think that question makes sense. [ think
1) yes, the dollar will be regained and will be @1 youhave to look at service by service. The
22 gained and then lost again in this spiral toward @ question of prices and particularly the question
23 a competitive price, ayn of marginal costs and certninly the question of
24 Q. What is the effect of the incumbent's 2¢) market power turns on a careful definition of
125} profit in that hypothetical when the price drops (25} what the relevant marketis. 1don’tthink the

Page 93 10 Page 96
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relevant market includes all services.
Q. [f the margins i1n one sector of whay
the [LEC does are offset by what happens with
respect to some other service, would it be fair
10 say then that the [ILEC has significant market
power?
A. Ceruinly. This is one of the major
concerns I think in the current market
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Page 99
does 50 because 115 being forced to by a
regulator, does it have market power?
A. Then the answer is it may or may not.
If the regulator stops predatory pricing and
allows that price to rise to a level thatcovers
its cost or above, then the question is wilf we
have entry in those markets? The answer again
hinges on the height of the barriess to entry
that exist, the economic barriers to entry that

% environment is that the ILEC will use its

1107 monopoly power in some markets to price well in (10} exist. All you have done - [ think that there

(1t excess of costs and utilize the profits from that (11 is a statement in my testimony to the effect that
(12) activiry to price under cost in other areas in 12 one of the most effective ways to prevent entry
(13 orderto retard or prevent the growth of (13 isto charge below cost prices.

(14} competition. (1490 Q. Butif it is the regulator that is

(15 Q. Butisn't there a possibility that the (15) doing that or causing the ILEC to do it, then the
16 ALECs will enter where margins are high and & ILEC doesn't have market power because you define
un reduce economic profit perhaps to zero in those (7 market power as the power to control what you
o1 areas and while the ILEC is still required 1o (an charge?

19 provide below cost services? Do you see thatas (19 A, No. The question is - the question is

o adanger? o if this company were not regulated, what power
@i A, lseeitasanoppornaity. | 21 would ithave? [ mean we sortof got the can

a2y certainly wouldn’t call it & danger. (22) before the horse here. The purpose of regulation
2% Q. Itis an oppormunity for the ALECs but (23) is to control market power. And so if you are

24 itis a danger for the ILECs, is it not? 4 regulating, that doesn't mean that you don't have
25) A.{tisadangerforthe [LECs. Itisan 25y market power. It means somebody thinks you do.

Page 98 Page 100

() opporrunity for consumers because itdrives (1} Q. But you are not able to exercise it,

) prices to cost. Now, to the extent that may () correct?

) happen, of course, hinges critically upon the % A. Thatis che purpose for regulation, one

@ height of barriers to entry among those markets 4 of the purposes, to prevent you from exercising

5) thatare gencrating the excess profits. (%) the monopoly power that you have.

% Q. Ifan ILEC has ninecy-nine percent of ® Q. So in that situation the ILEC would

0 the market for a service that it is required by @ have market power - might have market power but

() regulators to provide at below marginat costs, (9 itis notable to exercise it? Is thaca fair

& does the ILEC have market power in your view? ) statement?

(100 A. We are back to the regulatory-induced (10 A. Well, hopefully the appropriate

{11y predatory pricing question. Let me finish my (1) regulation of the ILEC will prevent it from
(12) answer, (1) exercising its monopoly power, yes.
u» Q. Itsounds like you are going 10 answer 3 Q. Would you agree that competitive entry
(14 a different question from the one  asked. The (14) has occurred already in local toll markets and
(15 question is, does the ILEC have market powerin 19 local transport markets?
(16 your view in that situstion? 6 A. You put an adjective comperitive
an A, [tvery well could bave market power. (n entry, Ithink itis probably innocuous. Butl
(t8) 1t has ainety-nine percent of the market. So if (i will ademit that there has been some entry. |
(1% there are barricrs to entry along with that, then (19 don’tknow how significant it has been. There
20) by definition it has market power. Now, it’s 20y has been some entry. Itis certainly not
21) pricing below cost perhaps because the regulatory 2h sufficient at this stage by any stretch of the
n agency is forcing itto, perhaps because it 22) imagination to leap to the conclusion that these
23 chooses to in order to prevent competitors from @) markets are now competitive simply because there
(24 coming into that market. (24) are has been some peripheral entry.
23 Q. Let’'s take the first sicuation. Ifit 2% Q. You would consider MFS, for cxample, to
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Page 101
be an encrant?
A. {11s my understanding they are entered
in the provision of access and [ am not sure what
else they may be providing.
Q. Teleport would be another entrant to
your undersianding?
A. lam not familiar with Teleport's
market share again or what they are providing in
the state of Flonda.
Q. But they are another entrant, correct?
A. Itis my understanding that they are
providing some services in local exchange markets
of some type.
Q. Doesn’t GTE offer local toll service as
partof a package with basic exchange service?
A. By local toll do you mean intraLATA
toll?
Q. Yes.
A. 'm not sure. [tis my understanding
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Page 103
contribunions from tocal woll heip keep basic
exchange prices low for GTE customers?

A. [ have serious questions about whether

that ts the case.

Q. Whatis your basis for those questions?

A, The debate about whether focal service
covers its Costs of not.

Q. What is your basis for thinking that

those people who in the alleged debate say that
itdoesn’t help keep prices low are correct?

A. Again, [ haven’t reached a firm
conclusion. Isaid I had serious questions, and
the questions hinge on what the truth of the
matter is in that debate.

Q. You justdon’tknow?

A. And I do not know which side is

actually correct.

Q. Allright. When AT&T purchases local

exchange services for resale, do you know whether

20 they are offering some bundled packages where 2oy it will purchase local 1ol} from GTE or
1y they are combining toll and local services @n alternatively self-provide local toll?
22 together. 20 A.ldonotknow what AT&T s plans are.
@y Q. Don't the vast majonity of GTE 3 Q. If AT&T does provide local wll, won’t
@4 residential and business customers purchase tha: 24} GTE lose this source of contribution when it
% local toll from GTE? 5 loses retail customers?
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1} A. Ido not have market share figures for (1) A. Thatis another area that is subject to

(@ the intrmLATA toll market, so Idon’t know. But @ debate. When GTE loses an intraLATA toll

() [suspectthat is probably true. o) customer to a competitor, be it AT&T, MCI,

4 Q. Isn’t the contribution that GTE %) whoever, it loses the margin on the toll service.

) receives from local tol! an important source of ) Ttalso saves the cost of providing the toll

61 contribution o GTE? (6 service and it earns the margin on the access

™ A.Iwould imagine they are making (M service that it is providing. On net, whether

@ handsome profits. If you wish to call that ® its profits go up or down is another empirical

™ contribution, then you may do so. (9 question. '
(o Q. Let's continue to call it (o Q. You don't know the answer to?
un contribution. Doesn’t the contribution from (1) A, Thatwe do not have the answerto. I
12 local toll help keep basic exchange prices low (12) can say that [ bave done some rescarch on this
un for GTE customers? {13 issve with a graduate student bere at Auburm and
a# A. Thatis an interesting question. [ (19 John Mayo, and the empirical results that we have
1% have wondered for several years now where those (t5) found - and what we were looking at basically is
16 profitt go. Aslindicated I think at the very 06 historically has the growth of inmalLATA il
«un froat of this deposition, there is considerable (' competition put an upward pressure on jocal mtes
8 debale in the economics literanzre at this point (un whick is what your position would be. We found
(% 4s to whether local services receive any subsidy (19 that the answer is no, it has aot. To the extent
1200 whatsoever. If they are not receiving s subsidy, 20y there bas been intral ATA wli competition to this
an then those profits are not going to bold them 1) point in time, there has been no increase in
an low. They are going either to the stockhoiders an local rates, statistically significant increase
% or they are going to pay for inefficiencies @3) that we can find,
4 within the firm. @ Q. Has that study been published?
a% Q. So the answer is you don't whether the 5 A.No,ithas not.
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) Q. [sitavailable? Isita wntien study th gowng 1o do onthat. [ hope they do the nght

thy per se’ 12y thing. |can’tbe certawn of that.

3
)
5
()
7
(1}
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A. Yes. Itisapaperthatis written,

We have not published it yet,

Q. Have you submitted it for publication?

A. We submitted itand are currently in

the process of revising it and will be submitting
it whenever we get some time o work on it, to
send it back out. Itis ready to send back out,

(8]
i“
(33
té
"

Q. Has anybody else reached a finding

similar 1o yours. if that is what you have found,
that loss of the toll will not overall have an
adverse impact on contribution to GTE?

A. lthink there is 3 paper by Mark

43 Seavers that was published in a book that makes
% very similar type arguments.

110 Q. Mark Seavers?

(107 [believe.
an Q. IfF AT&T provides local toll and GTE 11 A.Yes. 1don'tknow if - ] think he may
(1) loses a customer 0 AT&T that is taking this an have had some empirical evidence in his paper as
un source of significant contribution or profit, you it well, but I am not sure about that.
(14) are saying that GTE won't lose the source of (4 Q. When GTE or another incumbent sells
15y contribution when it loses the retaii customer? {15y toll and local exchange as a bundled package, as
(16) A. Again, the theory is that you lose the (16} you said you think happens, and when the - if,
un contribution but you also lose the cost of (In because you don’t know, but if the price that GTE
as providing that service to the end customer and (i8) charges for the basic exchange is affected by the
(19 you now sell access at a substantial markup above 9 price itcharges for local 1oll, then undet these
{20) cost o whoever is serving that customer, (20) assumptions isn't the relevant rewail price that
21y Q. When you say you don’thave to pay the @1 should be used to calculate wholesale price
an cost of providing the service, the 1ol service, a2 really equal to the bundled cost of the toil and
(233 when you say there is contribution, doesn't that 23 the local services?
24 mean that what you get from ATET is far greater @6 A. No, §don’tthink so,
(25) than what you pay to provide it? Do you want me 5 Q. Why not?
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() to rephrase thar? . (1 A, ifthe new entrant is purchasing a

(2) A. The conwribution with the sale of the @ local service and they are not purchasing the

O toll will disappear. Ithink my point was the & bundied services, the new entrant that is

) total contribution is not the revenues that are 4 purchasing the local service, then it cerainly

9 lost. Itis something smaller than the revenues %) would not make sense to include the intraLATA

(6) because you also save the costs. So the true 6 toll as pars of a bundle simply because GTE had

(n contribution is smaller than the total revenues o chosen to engage in what is in effect a tying

% youtose. Offsetting that are the access & arrangement in the sale of its outputs to its

" contribution, if you will, or profits in the sale %) customers.
(101 of the access to this outside provider now. (0 Q. Isn’t the price that the ALEC is paying
(10 Q. Butthat depends on GTE's continued (11 _affected by the so-called tying agreement?
Ay sbility to make that sale, does it pov? (D A. Itcertainly makes ic harder for them
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A. Itdepends on their monopoly power and
provision of sccess services which | think is
beyond dispute.

Q. What about under the act as the sctis
implemented? Will that continue to0 exist in your
view?

A. lhope itwon't. Are you talking about
the pricing of access services?

Q- L think that is what you are talking

about, isn't ir?

A. Yes. Thatis markup I think - of

course, the FCC has not yet held their access
docket, So [ really don't know what they are

(13 to getin the market and compete in the presence
(14 of thattying arrangement.

s Q. Why does itdo that if the - and agsin

(1# we are assuming if the price for the basic

7 exchange is loweras a result of the price for

{15 the toll, why does that make it more difficult
(19 for the entrant to come in under the avoided cost
@0 methodology that the act imposes?

an A.lamsorry. I'mafraid I've gouen

@2 losthere in this example. You have gotihe ILEC
@) selling a buadled service?

a4 Q. Yes.

@n A. Ataprice of -

- -
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Q. ldon 't think the pnice 18 relevant to
the example. What I have said, and [ think you
agreed. s that they frequently do seil toll and
local - basic local exchange as 2 bundled
package. [think vou testified thar it was your
understanding although you weren't sure that that
frequently happened. Thenlasked you whether
the contribution thac they make on the local toll
heips keep the price low on the basic exchange,
and you said you didn’tknow. Sointhe
hypothetical [ am asking you to tssume that it
does. Under that assumption, doesn’t the
existence of the so-called tying arrangement that
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[think as such the pricing questions need to be
kept separate. [also think that tying
arrangements in general are not anticompetitive.
However, when they are implemented by a firm with
substantial monopoly power, they can be very
anticompeutive. There is a huge literature on
that.
Q. Why do you consider them separate
markets if they are invariably sold, and let's
assume that they are, invariably sold by GTE asa
bundie?
A. Just because one firm, s you say
invarizbly, which [ question they do, sells them
as 3 bundle, they may offer them &s a bundie but

(4 Towers the price on the basic exchange service {14)
(15) make it easier under the avoided cost method for {15 consumers may not choose them as a bundle.
(16} the entrant o come in? (16) Q. Let’s assume that they are sold
tIm A. Let me try to rise above this justa (7 invariably or almost invatiably as a bundle.
() moment and take 2 broader view. You are 1% A, By the incumbent firm. They are not
(19 claiming - I believe I hear you claiming that !9 sold invariably by new entrants as & bupdle. In
@0 lower prices promote entrant, that lower prices a0 fact, they are generaily sold separate.
an for retail inputs promote entry. @n Q. Wedon't know because there aren’t new
a2 Q. I think what [ am suggesting to you is @2 entrants, correct, right now?
29 that under the avaided cost method wherein the @3 A.1thought you indicated there were, 1
(4) price that is going to be paid is determined by @4y am willing to admit there aren’t any significant
(25) the retail price, that the lower that basic price (251 ones.
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(1) is, the easier entry will be, yes, under the new ) Q. Ifthere aren’t, then shouldn’t the
@ act which calls for the avoided cost methodology? (» market be defined by what the only person who is
M A.No. lthink thatis sitly, Ifentry ) making those sales to a significant degree does?
4) were encouraged by lower output prices, suppose @ A. Absolutely not. Where that firm has
(5) the price of the retail service wentto adime a ) market power you don'rallow that firm swo
(&) month, do you think a thirty perceat discount () determine what the marketis. If we did that,
m would promote entry, a forty percent discount, & (N antitrust would jusc be hand strung in trying to
() hundred percent discount would promote entry? 1 & amack monopolies in general because the
® don'tchink so. Maybe a hundred percent would,  monopolist could simply redefine the market by
(/o) buca ninety percent wouldn't. Because the price (10 bundling with sotne other productand,
(1) is 30 far below the cost at that point that af presto-chango. you don’t have a monopoly.
(2 nobody can compets with any discount. (9 Q. What if AT&T and other new entrants are
(n Q. Is ir realistic to — when the price % also planning to package them the same way, that
(e thatis actually charged in the real world isa (14 is, to sell both together?
(19 bundled price which takes into account both toll (5 A. If thatis a marketoutcome ina
116) ang the basic exchanges, is it realistic to () competitive tnvironment, then in that case
(n simply call the price to break that down, (n bundling is not anticompetitive. But until that
(% unbundle it, even as the price was based on the (# happens, [ think you aieed to separate the pricing
(1% assumption of bundling? s it realistic 1o call (1% issues between these two markers.,
<2 the price for avoided cos: methodology based on an Q. But you don'tknow whether AT&T is
ayn the unbundling? 1) planning to bundle them that way, do you?
0 A Weare back to the question of relevant an A. No, ldon't. [think we will find out
23 markets. Yes, Ithink itis. Ithink thatthe @3 when and if we do have the eatry which depends,
20 local exchange service and intraL ATA toll are 24y of course, on what the comunission does in this
@s) separate markets from an economic point of view. 23) hearing.

Page 109 1o Page 112




BSA

David L. Kaserman

October 4, 1996

XMAXON

i
2
[}
4
L]

- =

Page 113
Q. L AT&T has suggested that they plan to
g0 that way, wouldn'tthat be evidence that that
is what is going to happen in the new market that
you are describing?
A. Again, Lthink if it is a natural

in
2
3
L]
(5
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A. You would have 10 ask them about their
writings. I, frank!y. have noteven read what
they have done on postal services,
Q. So you dan’'t know also whether they
endorse the end user fee as a method of making

) market outcome from market forces, then I think ® the postal service whole?
(0 thatis fine. If competition is presentand tn A.No. [donot.
(9 driving thosc outcomes, that's fine. Until that v MR. MIRENGOFF: Thaiconcludes my
 happens, I think these need to be viewed as % questions. [don'tbelieve we have any
(10 separate markets. They have historically been 0o redirect.
(1) separate markets. Consumers have purchased them (i
(12) separate in other markets and continue to do so. 02y {Whereupon, at 4:45 p.m., the taking of
(13 And you cannot allow an incumbent firm with (13 the instant deposition ceased.)
(14) monopoly power to tell you what the relevant (14)
(1% market is simply by its bundling or tying (1%) Signature of the Witness
(16) arrangements that it chooses to implement. [{1]
(tn Q. Youdon't know one way or the other (in SUBSCRIBED AND SWORN 1o before me this
an whether that same bundling wilt continue? an day of .19
9 A. [think if you look far enough in the s
00 future [ think probably e lot of services will be a0
21 bundled. Alllong-distance, local and perhaps @1y NOTARY PUBLIC
(2} eatertainment services and other things. But a2y My Commission expires:
an hopefully that will be driven by competitive an
24 market forces and consumer preferences, not by fr T
@5 GTE’s corporate decisions of what to price fvl)}
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(1) together or what to price separately. (
@ Q. Aren't those decisions subject to 2y CERTIFICATE OF REPORTER
(0 regulatory review? ()
) A. Tosome extent in the current regime, { @) STATE OF ALABAMA)
(5 suppose there is some regulatory review. Iam ) JEFFERSON COUNTY)
&) not sure to what extent under the price cap & [, Paige Paugh, the officer before whom
 regime. (n the foregoing deposition was taken, do hereby
# Q. You are the author of a paper called ) certify that the witness whose westimony appears
 Local Competition [ssues and the o in the foregoing deposition was duly swomm by me;
(in Telecommunicadons Act of 1996, are you not? (10) that the testimony of said witness was taken by
t1) A.lbelieve you are referring to the (1 me to the best of my ability and thereafter
(12) paper that was filed in Virginia? tt2} reduced to typewriting under my direction; thatI
an Q. Correct. (1% am neither counsel for, related to, nor employed
a4 A. Yes. T1am the co-author on that paper. (4) by any of the parties to the action in which this
s Q. Your co-suthors on that paper include (15) deposition was taken, and further that] am nota
16) Professor Michael Crew and Professor Paul (t6) relative or employee of any attorney or counsel
un Kicindorfer? (im employed by the parties thereto, nor financially
(s A. Yes. (10 or otherwise interested in the outcome of the
(9 Q. Haven't they written on the economics (19 action,
o) of the postal service? a0
an A. [believe they have. Qan
22y Q. Haven't they in their writings on the @0 Nowary Public in and for
@231 economics to the postal services, haven't they 25 the State of Alabama
(24) endorsed ECPR as an appropriate method for [+ 23]
(25) pricing unbundled monopoly elements? [r )}






